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Example 1-1: Which properties are true for the counting numbers, whole

numbers, integers, rational numbers, irrational numbers, and real numbers
under the operation of addition?
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Example 1-2: Which properties are true for the counting numbers, whole
numbers, integers, rational numbers, irrational numbers, and real numbers?
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2020222 =25=32
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(1) aP g9 =afP*q
23 028=2344= 27 128

(2) aP/al=aP"9=1/a%"P ifaz0
35/32=35-2=33, 3436 = 1/36 4 = 1/3?

(3) (aP)d = aM
(42)3 - 46' (34)2 =138

4) (ab)? = aP bP, (a/b)? = aF/bP ifb#0
(4 ¢ 5)2 =42« 52, (5/2)* = 5%2°

5) aP=1/a° ifaz0

24 =1/24=1/16, 1/33=33 =27, -4x?=-4/x%,
(a+b)yi=1/(a+b)

Logarithms ek ylogll| o
1 oo cilise crge 34e b g curge e N Co- B =N OLS 13}
x=log, N cSos b (ol N @ayle gl g i1 o803
o il sl e plaseal 3729 S L 1415 JUe

Example 1-15: Write 3% = 9 using logarithmic notation.
L 2=l0g,9 of 3 W 9 az)le g ga 2 0558 329 OY Vs

. log, 8 ies txsf 1 1-16 JGe
Example 1-16: Evaluate log, 8.

2 =8 51 8 098 254l pd) oy oy X 34al) 4 log, 8
. log, 8=3 &3 Jeo x=3 05K

o fla . e blie 58Ne x=log N 9 b* =N 0 S 055

sdgd Loan Lol Laall x = log, N ey i) Ganall b=
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Eaomr S3lam N o M g0 (pidde b Jool> il -]
sl opodadl pexyle o
log, MN =log, M + log, N
sl Slez,le g DY log, 35) o5 e 1 1717 Jle
log, 3(5)=log, 3 +log, 5

Example 1-17: Express log, 3(5) in terms of simpler logarithms

log, 3(5)=log, 3 +log, 5
e Sl g9l N o M S ge pdde dald EJB- ‘..:..ULE'-_,J _II
log, (M/N) =log, M -log, N

byl clanle ) DY Tog,, (17/24) e e 1 1-18 Jla
log,, (17/24) =log,, 17 - log,, 24

Example 1-18: Express log,, (17/24) in terms of simpler logarithms
log,, (17/24) =log,, 17 - log,, 24

st azle g Gy pman p sslan M saall pssidl qley) - I

log, M’ = p log, M
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log, 5° decd Ja sl 1 1-19 JL
log, 52 =3 log, 5
Example 1-19: Evaluate log, 5,

log, 52=3 log, 5
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(Ve3P =6, (VaZ+yl)t=x2+y2 : 1-20 Juhe
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D 1-21 JGe
V= VIT3=VT-Vi=3V2, Vap=VaVvy

'J%{,ﬁ b=0 (3)

D 1-22 JUia
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2 Vm 2 NU-2¢ Vo-zp 0-2?
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Ya ="a (5)
: 1-24 JUGa

Ws=V3, V=¥, VV@=¥z
Simplifying Radicals jgdond lawud
LW B LI e das o Sy
 asdmadl o alSI 4530 (55801 1 szl (1)
: 1-25 JGae
V33 = V@) = VB Vi =2Vi

V 8x5yT = V(4xdy8)(2ry) = Vaxdys V2ry = 2x2y3V 2xy
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V(-2 =Vie=2 : k>
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2 2\2? 23 2
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Graphical Representation of Complex Numbers
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Algebraic Operations with Complex Numbers
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(a+b))+(c+di)=(a+c)+(b+d)
G+4D)+@B+2D=0B+3)+@+2)i=8+6i
C6+2)+@4-51)=(-6+4)+2-5)i=-2-3i

uni—ﬂ“

(@a+b))-(c+di)=(a-c)+(b-di
B+2)-G5-3D=C-5+2+3)i=-2+51
Cl+)-(G-3+2D=(C-1+3)+(1-2n=

C..ok.:.)l.-.“ J.:-J‘uLLS )l.L_c-‘J\ J.nLaS u_._s_,o ua.s..\.c- u,mj L
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3-x B 3x+9+x% Lyl 1 279 JGe

x J i3kt 5o o iy o

x2-3x+9 (A)
-Xx+3
-x* +3x% - 9x X P (A)
3x2-9x + 27 +3 4 (A) o
x> + 6x2 - 18x + 27 aadls

dad oyl dmgl 1 sl ool e sl ool e (4)
b o o pzadl e L Sl Do) ¥ales!
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3z Je 24y il 12710 Sl
svale) e
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1
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o A kN

ol 5 ()
4..1.:,, 4 \+ 4 ..‘CJG=AJ£ e}
diyiflend = quotient + ren.la_jnder
divisor divisor

o342 Jo P +2xt-38 4 x-2 il T 2-11 e
x 3 LI5U g9 o lageai i ey 33l (5,3 S

i WS el Loy
2x2+3x +6
x2=3x+2)2° <30+ 2+ x- 2
2x* — 6x3 + 4x2
I*=-3x+ x— 2
33 -9x2+ 6x
6x— S5x— 2

Special Products deal> oo Jelg> ©
ol Il o sS G ol odl Joles pan b Led
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o O aa w1 Al o feol — 1
Product of a monomial and a binomial
a(c +d) = ac +ad
X2x+3y) ol ol daol 1 2-12 Jta
+d=3y 3 c=2x 9ga=3x as r\.xs..-;...L_.
ex 3x(2x + 3y) = (3x)(2x) + (3x)(3y) = 6x* + 9xy
g QA ¢ et e Jol — T
Product of the sum and the difference of two terms
(a+b)(c-d)=a’-b?
. (2x+3y)(2x - 3y) el ol ol 12713 JGe
b=3y 5 a=2x as I plsualy
(2x + 3y)(2x - 3y) = (2x)* - (3y)? = 3x* - 9y°
Square of a binomial i S5 a0 — 111
(a+b)’=2a%+2ab+ b’
(a-b)’=a’-2ab +b?
c (3x+5y) (1) wpall Juolg> amsf 1 2-14 JUie
(7x* - 2xy)* (2)
b=5y 5 a=3x as I plisal, (1)
(3x + 5y)* = (3%)° + 2(3x)(5y) + (5y)* = 9x> + 30xy + 25y*
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b=2xy s a=7x" ae OI plasnly (2)
(7x2 - 2xy) 2 = (7x2)? - 2(7xH)(2xy) + (2xy)* = 49x* - 28x%y + 4x%y?
ot O e Gl Oy ol — TV
Product of a two binomials

(x+a)(x+b)=x2+(a+b)x+ab
(ax + b)(cx + d) = acx’ + (ad + be)x + bd

(a+b)(c +d) =ac + bc + ad + bd
x+3)x+5) (1) oo o= dxsl 1 2-15 Jla
(3x + y)4x - 2y) (2)
b=5 5 a=3 ae IV plasuly (1)
X+3NX+5)=x+@+5)x+ )5 =x>+8x + 15
d=-2y 3 c=4x 9 b=y 5 a=3x as IV plinz.l (2)

(3x + y)(4x - 2y) = (3x)(3x) + (y)(4x) + (3x)(-2y) + (¥)(-2y)
=12x*-2 xy - 2y°

Cube of a binomial  pid! &3 CaSs —V

(a+b)® = a’ + 3a’b + 3ab* + b’

(a-b)’=a’ - 3a’b + 3ab’ + b’
x+2yP (1) wpall Joolgm sl 1 2-16 Ja
2y-5° (2)

b=2y 5 a=x me V alasaut (1)
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(x + 2y)° = x* + 3(0)%(2y) + 3(0)(2y)* + 2y)°

= x> + 6x%y + 12xy* + 8y’
b=5 5 a=2y ae V plaseal, (2)
(2y - 5) = (2y)’ - 3(y)*(5) + 32yX(5)* - (5
= 8y’ - 60y> + 150y - 125
Square of a trinomial 3 3431 450 ay 0 — VI
(a+b+c)*=a’+ b’ +c? +2ab + 2ab + 2bc
@2x + 3y +2)? L pall Jools axsl 1 2-17 Jle
c=z 9 b=3y 3 a=2x as VI rL.L-L.:.'..uL,

(2x + 3y + 2)2 = (2x)* + 3y) 2 (2) 2 + 2(2x)(2y) + 2(2x)(2) + 2(2y)(2)

= 4x% + 9y® + 22 + 12xy + 4xy + 6yz

2+ b Aiwall M WG] JaiS T wplll Juale> o
Products Yielding Answers of the Form a" + b"
Of @l ol Guiondl o Say

(a-b)a%+ab+b?)=a’-b?
(a-b)a®+a’b+ab2+b)=a-b*
(a-b)a*+a’b+a?b?+ab’+bH=2a’-b’

(a - b)(a® + a%b + a’b? + a?b3 + ab* + b®) = a - b®

DS s el Sy L sae ras Lghey
(@a-bya™'+a"b+a™b2+ ... +ab"?+ by =ar- b o VII

(1,2,3,4,....)%_9.0@:-.«: A N S
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(X - 29)(C + 2xy + 4y%) ©ual Jools dm ol 1 2-18 JUe
b=2y s a=x ge VII plisuly
(x - 29)(xE + 2xy + 4yD) = x> - 2y)’ = x* - 8y’
Of s} oSay Jaadbs
(a +b)(a?- ab + b?) = a3 + b?
(a + b)(a* - a%b + a?b? - ab?® + b?) = a’ + b’
(a + b)ab - a'b + a*b? - a’b® + a%b* - ab’ + bS) =a’ + b’
DS S jasls oSy . 5s ) s Lgzes
(a+b)a™ -a"2b +a™3b2- .. -ab"2+b")=a"+b® == VIII
C(L2,3,4,.0.0) 3,00 o ge e 48 | g n
(xy + 2)(y? - 2xy + 4) O pall ol sl 1 2719 Jla
b=2 3 a=xy ae VI pliseiuly

(xy + 2)(xzy2 -2xy+4)= (xy)3 + (2)3 = x3y3 +8

Factoring Jslgs (ofl Judxdd| o

alisdl o 28T ol il (e o mn (o e Jalge Joss
- oenadl Sl Lee gty VRO LY I [ PR |

4 padl poliadl e JS M 1 2-20 JUe

-Tx+6=(x-Dx-6) (1)
X2+ 8x = x(x + 8) (&)
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6x%-7x-5=03x-5)2x+1) (=)

X +2xy -8y’ =(x +4y)(x-2y) ( 5 )

s ey Lodis Lales J—l> J& polynomial 3! 228 o JG

TS| P PRGN A PR

OSey 23 Je L pplal 8 Lzl ool pusdly —— Jeldl 2o o
C(1-6-%) ol (x-Dx-6) o 51 J] x2-Tx+6 Pou O

Lo g et Jolse W oS0 o3 3] sl spasdl 5,08 e JUG, o
41 of Lt f

G SV o Malaadl il 3gdsdl S s WiSlay OL Y jamy i o
L (- 9/4) = (x + 3/2)(x - 32) Vs

Wood slie U yo a8 Ll lotin oot Loy Ol Y1 any i o
L) Sl e dd e el (P-2)(x+V2)x-V2)
PR P R IR WS | I S P AT QSR VR P
dovenad) Slae M @8 o zih el gall o Valaad dedsuiaall dlas Yl

Factorization Procedures Jsigs (1 Julxddl G3da o

o) Tl 5tpds 0585 Gk Ly Lad
Common monomial factor & &l dadl gal>i Jetadt (7))

ac+ad=a(c+d) &_93&»

D 2-21 Jta

(a) 6x%y - 2x3 = 2x?(3y - x)
(b) 2x%y - xy? + 3x%y = xy(2x? - y + 3x)
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Difference of two squares sy o 3yall ()

a’-b’ =(a+b)a-c) £SO

D 2-22 S
(@) x2-25=x2-52=(x+5)(x-5)
wherea=x,b=35
(b) 4x2 - 9y? = (2x)? - (3y)? = (2x + 3y)(2x - 3y)
where a = 2x, b = 3y

Perfect square trinomials sgundl 35 JolS ape ()

al + 2ab + b? = (a + b)?
2. 2_(a.h)? . .
a’-2ab+b‘=(a-b) t;-‘u"

D 2-23 JUa
@ x2+6x+9=(x+3)
(b) 9x2 - 12xy + 4y* = (3x - 2y)?

Other trinomials §,>¥/ aguondl Slads (3 )

x2+(@a+b)x+ab=(x+2a)x+b)
acx? + (ad + be)x + bd = (ax + b)(cx + d) e

: 2-24 JUGe
@x2-5x+4=x-4)x-1
wherea=-4,b=-1
(b) x? + xy - 12y? = (x - 3y)(x + 4y)
where a = -3y, b = 4y
(c)8-14x + 5x2=(4 - 5x)(2 - x)

Sum, difference of two cubes uaSe (i @rallg foedme ( )

a’ + b’ = (a + b)(a? - ab + b?)
a’- b3 =(a- b)(a® + ab + b?) £
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P 2-25 JGe

(a) 8x3 + 27y3 = (2x)* + (3y)?
= (2x + 3y)[(2x)? - 2x)(3y) + (3y)?]
= (2x + 3y)(4x? - 6xy + 9y?)

(b) 8x3y3-1=(2xy)*- 13
= (2xy - 1)(4x2y2 + 2xy + 1)

Grouping of terms gl auens ( 9 )

ac+bct+ad+bd=c(a+b)+d(a+bh) C_,}C,.p
=(a+b)c+d)
: 2-26 JGa
2ax - 4bx + ay - 2by = 2x(a - 2b) + y(a - 2b)
=(a-2b)(2x +y)
Factors of a"+b" a"+b” Julgs ( ) )

D 2-27 JUa
(a)32x> + 1 =(2x)* + I’
= (2x + D{(2x)* - (2x)? + (2x)? - 2x + 1]
=(2x + )[16x* - 8x3 + 4x2-2x + 1]
)X -1=x-DES+xX*+x*+x*+x¥2+x+ 1)

dulin 3gd> 7 olag 2ax (7))

Addition and subtraction of suitable terms
x*+4 H> 1 2-28 Jid
doi (a3 4 g x* (550 f Jools Cins) 4 b g

X*+4=(x*+4x2+4) - 4x2 = (x2 + 2)? - (2x)?
= (x2 + 2)2 - (2x)?
=(x2+ 2+ 2x)(x2 +2-2x)
=(x2+2x +2)(x2-2x + 2)
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Aslall Gylall 0 Aallive Clasens .1
Miscellaneous combinations of previous methods
D 2-29 Jie
x4 - xy? - Wy +y* = (x* - xy?) - (&°y - ¥)
=x(x? - y}) - y(x* - y?)

=(x* - y)(X - y) = (x - )X+ xy + y)(x - y)
= (x - Y)}(x2 + xy + y?)

Greatest Common Factor _das¥l £ 5581 ewldl o

3 d9dadl O, S e ST ol Y (GCF) pae Y 8 m2dt el
el i) Lsde wdebas L STs drps ST 95 29 LS
c5Uanadl 3gdadt w8 IS Dole 068 o (L 05 Y Lzalyl
L agdsd) S e sua alae Y1 4 el el Slomy Y
cid g delgal o JuolnS sgum 3,8 IS ST e
e Jeami ) Qo Jools ga 0lae Y aadl @) O6S o

cgde i3S S G s By el BY us g asl
oo IS ke W 8 raldt i) i 1 2-30 Yl
3(x- ix +2y) 9 273(x- y)(x + 2y) ¢ 23%x-y)(x + 2y)
FONPRCCUE. QUL HIPN PV PN PO IUP

3%(x - y)H(x + 2y)
Least Common Multiple jaa¥! A&l aclall o
33l i e ST T sy LeM) et 8 22l Casliald
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coadadt Ol S e saa) i W1 A raadl Cislaad! sy Y

c W dalgal s JaolxS 29 S JST ST e

Je-U ade Jaass 1 jndll Jeol ga Lol S ziadl Cisliand) o
c 9dod) Ol S B Gty el LSY el IS

b e ) B paad) Cielaadt aasl ¢ 2-31 U

Fx-yy(x +2y) 9 223 (x-yPx+2y) « 2°3%x- y)’(x + 2y)°

Poa d9d S SO ALY 4zl cieladdl 0S5

223%(x - y)(x + 2y)°

Algebraic Fractions dyed! jgusd| o
Rational Algebraic Fractions ¥ J yuuSd| A yond gl
o= e | dad CJG.S aulS Say Slade o (oSO (g ad | ST

S pLadl Q ey bud P e il . PIQ dpusdl ol 28
UL

x2 +2y? 3x—4
x* - 2xy +2y° 2 x2-6x+8

s S Gmer S OUsSS

2SI pe L Jolass ) Gl Bley 9SOt mo Jolacd] asd g8
Do bl sl af L ol b
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oda 5 . Do LS odn OS5 YW e LaSI ity Lads 13
Jraamss (x - 1) ZoaSIL (x4 2/ - 3) pling Jay Ly 13] itad

L Ll S e

(x+2)(x-1) _ x2+x=2
(x=3)(x-1) x%2-4x+3

cxel gl i coadd (x-1) Eumy

@S (Sad (F +3x -2/ + 4y +3) LuSI cokel 13) Juall

(x+2)(x+1)
(x-3)x+1)

L gy (x + 2x =3) Jo Juams (x+1) o pliadly bl dosiiyy
. X#-1 LST ‘:.i..a (x+1) OS5 N

5]y pliadl 5Ll audt 5] . ] &N uSIL Juaxy
S iad i Oy Legie il 5)LE) Saki oS L WS STl
o a3 LY OF Liass aid L8] Jd 5)Ls) migr o 13

: 2-32 JUa

A3 e . L) die e 5P s 000 OF oSy

x'~3x+2 _ (x-2)(x-1)_ (x=2)(x=1) _x-1_, =
2-x 2-X - -(1—2) T -1
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Operations with Algebriac Fractions
g yommadl oy 1S 09 8 20 plin L 9SS (5 el § gareal]
o el pliadl deliey has uS IS dad (el
T 2-33 Jie

2 _3x+4 xM+5_2-(3x+4)+(x+5)  x’-3x+3
x-3 x-3 x-3 x-3 x-3

eSS S S8 S il lalie J (5,8 e b s pesnd

T 2-34 JUGa
2&x+1 _ 3 = {(2x+1)(x—1)-3x
x{x+2) (x+2)(x-1) x{x+2)(x~1)
= (2x+1)(x-1) _ 3x
x(x+2)(x=1) x{x+2)(x-1)
. - 2x2—4x-1

x(x+2)(x-1)
IS bt i Jool by S gty 281 51 p S 00 ool
: 2-35 JGa

x}-9 _x—5=(x+3)(x-3)_x-5___x—3
x*—6x+5 x+3 (x-5)(x-1) x+3 =x-1

: 2-36 JU

7 Xy _ 7 Xx+2 7

- —

x—4 x+2 (x+2)(x-2) xy xy(x-2)
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aolin o) alay oo sl 3 ST o1 a8 Jo LS a0l S (g ginmy
LS A S da Lol

I Ady ylalt

o 1305 ) plaadly bl s

oo W ST r....S\ .

D 2-37 JGa
1wl
x X x:-1 x x-1
= = . = =x—l
1 x+1 X x+1 x+1
1+—
X X
DI Add pladf

S A S i eSO el
L 393 5T | ) LSO s e
: 2-38 JUa

—_——4 (...L_4)12
x? x? _1-4x* _ (1+2x)(1-2x)  1+2x
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Ratio, Proportion, and Variation
Ratio ‘duadl!
O 13] . b20 Com ab S pa:baSis b, a pods
CW=1 9l 1:1 4l OoSsd a=b =0

D 3-1 JUe
2 __ 4 _ _ e ot
3_3_4:6_60‘140‘4““3- ‘(‘)
2,4_2/3_5
3'5 4/5 6 (<)

& s
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L3y _ S5x _20x
5x: 4 ~3y/4 - 3y (-—"')

Proportion wulill

OlLsoSy ab=c/d ol a:b=c:d A Jo e solud ga it
g B olaugidic 9 b oo oLledld,a e Gl 4y Ll
a: b=b:c;......,l;:l|u§.c_gbgayJﬂc\)lwb:d1dulsélbﬂ
bugedl bl O9Sos o b g a e IO S Cllidl e Je il
Sl pldsanly Ledisos Sy Wislee ga Clidl L c g 0 SO
b g Jasadl OYslaadl Las isls paduins . iy mall Yo las]l
c09S ab=c/d OIS 15 . cwld) 5l Lede

(1)ad=bc (2) =4 (3)2=b (4) a+b_c+d
b d

DI LaSIl e ST Lt sl 1 372 JEe
Example 3-2: Find the ratio of each of the following quantities:

(aj6pounds to 12 ounces. . dssl 12 P} Jw,ie (1)

s ey i B iy il el stuaadl oy
96:12=8:1 o» Lisl 12 J) 43s] 96 Lo

(b) 3 quarts to 2 gallons. Lol 2 Jl ol 3 (o)
- 3:8 mo 68 8 JI lyeS 3 dyallaatl L
(c) 3 square yards to 6 square feet. . & rﬁ6&li~_,n 83, 3 (.s-)

iy pllaadt Lnd| 048 a0 B 9 (Solus daypm 5251 1 OY Vs
.9:2 i 6f2:2712
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Ls.@.HJLiA.......U.JJ:-UJ!3Om d;.b.k.»u_op,-.-r...d T 3-3 JUe
. o,’-JSJJL Jo,-_gi . 2:3

Example 3-3: A line segment 30 inches long is divided into two parts
whose lengths have the ratio 2:3. Find the lengths of the parts.

U3 Loy (30-%) 9 x Lglhadl Jlgb Y S

x —_
30—x

2
3
dai x J b
30-x=18in. o x=12in.

Variation gl
oty » yogeadloda oo daw Lo - Ladall slgedl 518 e _Bole
agrlss Lo may a o« iyl ol dmyy de Us,b ) geamadt L1 Laas
Gk g s pume £ g5 Jran &..-"’.-‘")E’}"‘ugw L pogmai o
il on el Jlad daladl plasl Sl L il s ke

c 3 pzall jadly S aadly (oo k)

Gl e xfy =k o L x=ky O0sSdy pe Us b x s 13 (1)
i) col af it cul ke

Cx=ky? 05y ae W34k x i 13) (2)

. x=kfy O)&éytag-gfxaﬁﬂ 131 (3)

. x=kxz 0988 z Sy po \'fj—h x < s 131 (4)

. x=ky¥z O_,i,jzco‘;—g‘J yzelia,bxo,,_xf 13 (6)

Ve g W iy me ki end B ol B 13-4 JUs

Sl syl L 2 flb LS o QS g 4fUs iy BIb g S,y

. (88 fv/s) 60 mi/hr de . e (6000 Ib) 3 ton &y ,e &S >
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Example 3-4: The kinetic energy E of a body is proportional to its weight
W and to the square of its velocity v. An 8 Ib body moving at 4 ft/sec has
2 ft-Ib of kinetic energy. Find the kinetic energy of a 3 ton (6000 Ib) trick
speeding at 60 mi/hr (88 ft/sec).

ol E = kWv? Dk sl

WY (81b)(4 fr/sec) 64"
) 3.,‘,.-]1 b’SJ,- uUau‘,i' SU3 u.LﬁJ

po_ W _ (6000 1b)(88 ft/sec)’
64 sed 64 sec?

Functions and Graphs auslad! agaydly Jigddl o

_E 2 ft~1b 1 .2

=726,000 ft—1b

Variables i piilf

LBl LT @ L8 e e T ol ) ey ey ga peld
LUl 5T sty s g e B0 Jhy o, ga St
Relations StMal!
oS 0 o Sl 2o} 00 - a2 las VI e 48 oa BV
OF ey, + Jrool ot ) 5,Y\ s audogn ooy il
i e by . Jada sl suels of Uslee daslyy BRI s
i e gl L 251 Sl il 213 S LS
c @l e LY LSl
DB gy GUa ga Lo 1 3-5 e
{(4,12),(3,9),(2,6), (1, 3)}
Example 3-5: What is the domain and range of the relation

{(1,3),(2,6),(3,9), 4, 12)}
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(3,6,9,12) = sdally {1,2,3,4) = Uil
Functions Jigdll
aUy Gl GL) 3 ate J S0 0650 Gy @M a A1
DA OS5 AT BN e s 1 3-6 Jle
Example 3-6: Which relations are functions?
g3l 45 Uyl e JS OV DL ((1,2,23.6,49.45) (1)
W ol a ae Gles
2 g ol B 1 oY A e {(1,2),(1,3),2.8,3,9) (o)
. 3 &e3
B JaY oladl o S 0N D5 ((1,3),(2.3).(4,3),09,3) ) (=)
G bl e dly ae Lolas £l
Glebadl sty ¥ Laize YWl SNty Jlaadl G ,a5 Le sale
A5 oland) b O5ST (DBy Lind ) plB)N Ge it ST pend
» Sadl o dad ST dolaall b by (s

y=x*+2 J saadly Gl g0 Lo @ 3-7 JUu

Example 3-7: What is the domain and range of y = x* + 27
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O5Ss shad 3as S au0 OY sl Slas W JS i ga Gt
Og-Sd . l.,ii,i»;uﬁ2“bﬁb:ugb@iﬁblgx
o { Lidsdl olae Y S ) = Gl

g 09 2 3l o o ST Lagad) Slas W IS 48 ga )
25T i 035 J5 Cal . Vie BY Jle 058 Lide so i
S0 2 8Ls) ae I3 e L xP42 Dl J2ey 2 (g5l o) e
c2 Y e 0SS @) L) olae Y ST Je e dagd
{ 2 < Qg hisYl S ) = Guall 0458
¢ y=1/(x-3) Gdag Glai gn Lo : 3-8 JUha

Example 3-8: What is the domain and range of y = 1/(x - 3)?

MYl J S @8 ga Gl 09K S5 g x=3 die Dm0 .8 Dolaall
3 Ldded) slas N ) = Glhdl L 3 gals ¥ I Lo

s by OY sy (i o) 055 Loz Vi oS3l prenay
U5 de o Vi S0 ia pmeaay o8 1 G313 gl 055 ST
e (ol ¥ I L P, IS oa el odn g0 05

(0% Lidsdl olusVl S ) = (sl

Function Notation i) diue
y 055 e Jad « x Jf galsy» i,is'_g y =1{(x) daall i
x=aJJYC!u‘HAJ‘MJM'f(a)M‘B%. x J Jbs
(s Sla 0S5 O b,ay)

Sy . fix)=x>-5x+2 Leuls e, y=x>-5x+2 :.‘.U:)u_.\.rv
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Cf2)=22-5Q)+2=4 _ax=2 1zsy ol f) Lad i K2) 055
D =EDP 5D +2=8 Jaadly

F(x) 9 h(x) 3 g(x) SIWy LI o b I, (s plasd Sy
- x Jles e (ol S KO
Rectangular Coordinate System 5udelail! Sl ola)

Y
I T I
3-]"'
R R R LR :P(J' 2)
i :
-2
X : 4 : L +——i- ] X
s 4 3 "10- 1 2 3 4 5
T
e
il =T v
¥
3.1 J&&

Ot DNl e 5y 000 6 Lhae Y Sbabadt LAY plaS pasi,
Lhil) 3 cpaablizadls YY 3 XX Lo oppdotazadt pulasndl el

. 3-1 sy 290 9 LS O

. Gail sle 095 x gmee ade Gl g XX Lasd

cCly a3l 09y semee ade Gl Y'Y Lasdl
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e -4 ,-3 -2 -1 L) Qg daddly . L L L 4.3,2,1
05 e 05 slies Tiag o sedl alau ¥l 065 OX U251 Lia

o= - e oS OY HlusL oy Jy..pgl.n ﬁu..i‘.“ u‘*“J‘-"
s gmeall AT J gl iy s plasmiad (U3Y el g) slinodd

t‘—-z)‘.)\-! P ;l}.:g-il_.q_,i ) el y, x O.L)J"A-H‘q.-uj..l_
L3 JS 5 WS IV IILIL T g ] 5l

S P e cpdges Liulh 1a xy hgr—d\usPMu..b.cT 15]

YJXGJ‘,_MCAC’Q_QWJ‘Q%.LﬁéLEI“yJXNS. Yo X gm0
g=ds . P ihil) y ety dbid) x Sl i) e das

c(y) a0 lagd )l GudlasY
ihist) ady ol slom) LSy i itam) el 13] oSl
(3, 2) wlglo] L 31 ISl i P kil o . xy (ggtmeall b

c Q2 (-2,-3) O Ol daadly

Gises 1 (6 y) hid) JS i o y=1x) Sad) LSl e !
. y=1f(x) Jolaall

Symmetry JSteil

e nad 51,0 6550 9o Sl o) L] sl 050 Lodie
(32 JSa il ) y gmad il Plaze SLdt e 3 OT J gish
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32 S5
wwﬁ-x,xy‘%yﬁxwg'\ld'ﬂy‘wl s &
£ 3 A1 05 ¥ 15 ol Dolead) 055 OF Ky - fX) = f(-x) i y

cx Ay
Sl cinaill §1, 5900 i) Caadl L Gladl pgen 1 pan
Bl o x ygmn ) dmidly Wles 3L o g I o) OF Ui
s gy Y, Y o WSy dad ISS 095 Ledie iy X Hgoed Ly

By o Joass ¥ ¥ oda . (373 S kil ) X dad s
cx ANy J
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Lg_pc_g_g Lnii_b\.-.nujyo.n‘\l.lg-y,x&oil.q—x Lo ee 13}
Jro W dhis I} Lt Sokazo Ll o 31 OF Jpih Wilas Dolo
e Lashs cendy wlde Jras eo¥slasdl oda . (3-4 IS8 Lt )

34 JS&

LNl Lsldl pyan M oy Jobmadd Pl pliser sl o Say
S a o el domg 1) - Jlasdl p g3 Byan 3 may - Jls
C Pl s Lo s Y Cinadl ) Sagd Gl e M o
B o Jo Yl dhiiy y jymeay x symad dilana b 4L o gon 31 A
gl edn sl L 0584 b2l daasuiall Lobdl o gu I 0 158" &1
c S es Jpoy BV ey e Pladl s plasaady il oy

o Pl y=1/x @D ) 1 3-9 JUe
Example 3-9: Test the relation y = 1/x for symmetry.

Lty Jlazo b oo} O 6T y = -1kt x o Yy x gl

. yJ‘PuJ
dntly Jilaze b 0 M OF sl y=-1x s y oo Yoo -y i padl,
. XJJMJ

- 50 -



s hlze ag-y=-l/x Jo baxiy 0 ’)Lh_ VX o Ydy X s gad
e Je Wi I indl Wlaze gl e OoSd y=1/x &

- Shifts A>3}

iad IS I} coree calh Blah Jel S U y= 1) gy 15

y iad U0 Sl b Blal Jand S 2 Gl etV Sy

= & Y=HX) +b ) ilsa > Je o LI y=£(x) ) (5

e Y O DY L olas gl e [B] optaie by Sl y =)

L b<0 L JiwY OeST i-13Yls b>0 e

oF Wl y=x2-3 5 y=x"+2 pgu ll Ciliy CiS 1 3-10 JUs

c Sl y=x? )

Example 3-10: How do the graphs of y = x> + 2 and y = x? - 3 differ from
the graph of y = x2?

y=x2+2 P—d‘)“;LFJMJwJJ,'J2uL"‘j C‘J'._;. u.i\._.,._\.nyzxz .
. (3-500) 9 3-5() JSa kit ) . gL
y=K2—3 r.-u)‘.’LPJ-A,dJQ‘J’-J3JL¥ C‘J'g. L:;L::j‘)’:Xz r.-u_)
. (3-50c) 93-5() JSa kit ) . sl

(c) y=x2-3 (b)y=xt+2

3-5 JS&
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P PV N C-"L’ Lo el u“! S y =10 () C‘J.""

. xL;._.,iJ.SOA;._JL..;J:-CJL \S!JL_._._J\ujlclﬁ. X dad IS

Sy = f(x) r.._.a_,o_c;i_\:;.:'-q.d\._._._..ﬂy=f(x-a) (= Al Je

ColS 13 et dgad O4ST i-13Y) . Olam g e la] Ll @3l
- 2a<0 ol I3 LUl S 04SS d-15Y19 a>0

ot bl y = (x-2) 9 y=(x+ 1) p gy Cilisg CiS 1 3-11 JUa

LS y=x A,
Example 3-11: How do the graphs of y = (x + 1?* and y=(x- 2)? differ
from the graph of y = x%?

> e Jamdd S i samg 1 SV y =2 ey £l
x+1=x-¢-D oY . Sl y=(x+1)

. (3-6(b) » 3-6(a) S kil )

c s y=(x-2y

. (3-6(c) » 3-6(a) ISz il )

(¢) y = (x-2)* (&) y = (x +1)? (@) y=x?
3-6 JS&
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Scaling wldll yuds

o5 Y id Jme O 1 oo ST crge ey y dad JS oy 1)
Y iad S cymn Bl W)Ly =) By dad i Jdae 8
i Jdoms e LAy dad o Jdae OB 1 9 0 G e g Sy
C Cum — Sledl y=cf(X) gy ilatey SIS Jo o y=fX) Sy dad
).y (Sl daas J SLdl y=f(0) oy 8 - cerge 320
el Jame Ol O<c<l colS 13l y s Jume dlojd > 1 CilS
- gadln y B

y dad JS i s x Hpoe Jo SL y =0 gy oSany
oSl gm e < 0 e Sy = of(x) S5 e o Il damy
X g e y= el

y=%|x| sy=3lxl gy=-Ixl py, o a5 1 3-12 JUu

Example 3-12: How do the graphs of y=-|x|, and y = l/2|x| differ
from the graphof y = Ix|2

y =-Ix| ad x same Je gy = x| f"“-’*—"'_{""
- (370 « 3-7(a) S kil )

Jiad I3 Ly ded IS oy wie Gl y= Ixl ey 03
(37 « 3-7() JSa it ) sl y=3]x] — S x

Jiad JSI 3 oy ded JS s i bl y= x| ey 033
(3@« 37@ S k) S Sy = ey JIx
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32 a0 1 2 3 X
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-l -+ -+
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(d) y =3I (¢) y = Mxi

3.7 JSd
Polynomial Functions aguai 43S Jigudi o
Polynomial Equations agda! 5,38 SY¥stalf

idolae o x pdzadl 0 iyl e doesaall 4 ,uSTE Y sland)
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Y JSal ots Sy

n n-1 n-2 -
ax"+a x*'+a X" +eee+ax+a= 0, a # 0

A folao Lol B0 81 gy - lin gy By 3 90 prnas S48 N Ce
c ) dsdl 2y e ey paizadl Jolaad) ade sl iy LS
3 x2-V2 x+1/4=0 5 427 +3x-5=0 055 > s
3 Loyl e X B doemas g S O elas x4 +4/-3x-8=0
o X ] 2OLS Wolae b5 b a LY L s D e 44 2

(@S0 ) G ol O Malaadls doegrens L g

el Savs x I B> 0555 x wisadl 3 0 daryd oo 3 gukd) 8 87
'o'_)_,...aj‘uj

P(x)=ax"+a x"!+a ,xO2+eeetax+a,=0, a#0

el ag, 2,8, ... 02, 9, 9 e gp e 4 N o
e X (SN Ayl e Do DS Dolae s P(x) =0 O S
Px)=3+x*+5x-6 ; «sl\S 131
P(-2)=3(-2)’ + (-2’ +5(-2) - 6 =-36 . O ¢S

P(X) = x* +2x - 8 calS 13

P(J?)=5+2J5——8=2J5—_3 PR E)

P() =0 Balaall jda 023 PO Jams s % dad s Jo 3l
ON PO =3+ x* +5x- 6 Bolaadl s P 2095 iy e
P(2)=24-8-10-6=0
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Zeroes of Polynomial Equations agdal 5,38 G¥alal! jliei

P() 59desdl b,028 coaud 1349 el 6f r OIS 1) 1 I &k
. P(r) SUI O (x-1) Je

r=-1 9588 (x+1) Je P)=2-3x"- x+ 8 Cuad 13} Sad
CPC1D)=-2-3+1+8=4 ol SUI1y

3_a.2_
2x Ix‘—x+8 =Q(x)+ 4
X+ 1 x+1

. X P d9dadl 5,58 Q(x) G

JeSé P(n=0 st Px) =0 Jolaadd L,.u- r O 13] 1 Jeladl W ylad
9554 P(x) i Sle (x-1) O 3] Sally . Px) b Dle (x-1)
BN 3420 1055 WD e . PO=0 of PX)=0 dolaall Lo 1
. P(1)=P(-2)=P(-3)=0 OY ks P)=x> + 4%+ x - 6 Dslaall 9
X +43%+x-6 uf’ ‘)Luly x+3) s (x+2) 9 (x-1) u‘,g...o
JJJ@J‘uﬁfMM%,L&&JA\M|m|MI
o s Lyl 0dgy + s dae sl T e (-1 e P(Y)
 dnS A o) plasianly (x+4) e (x4 x*- 145 (sl 1 3-13 Sl
Example 3-13: Divide (5x + x* - I4x2) by (x + 4) using synthetic division
PN O | PR P e U A 1P P IS N | (PR

. X-2a OJFJL.LG‘-‘,-!A.“Q_..'S‘ . L@)Ln\.m J.a.a“ r‘..\.'a...u\.s 3)35“‘
(x*+0x* - 14x2 + 5x + 0) + (x - (- 4))
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-4 140-14+5+0

LI Ui 6,1 eIt cinadl ) pgmiall 3 Jo¥1 dodl Ll

.0
-4l 140-14+5+0

1

e pgudally (LI Cinall) dadll s i 2l

il B S st Jand Sl il 5 ol el cuSTl

0S” g gameall Sy 0455 (I s gandl b Slae Yt pasrt . Jo Y
-4 1+0-144+5+0
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po—dadl o3 Ll £5\s G G oped! e LY 0l O
o o el ciall e S asdl o il STl ade
055y g ddaadl odn )8 L dandll 2yl Choo (S semall ST
s W) gkl cinall $ u S

-4 1+0-14+5+0
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1-4 +2-3+12

c SO 4 W dedly desdl 2l i ga SIW il
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r‘,_....ﬂA.“ L»-J.)UP JJ"_’J J.Oi u_,gv daadl | CJL:- S 9> BJ_.‘.'."S i)
055 damed) o yls o B dgusdl L Ll Dale e s WY
39 B35 dar)yd . dend! C_,L-L- TRES JR SN IRTRES T VIPY

B T+ - 14 +5x 4+ 0) + (x- (4) oo Sy dedl) 2,5

12
x+4

= P(x) =0 39dxdl 5,8 Dolas ST 005 1 panld dawlaal Ay plaid
CUS e o Cad famly Lde J5YY

il Do Y e L K-35 4220 23 e

Gy T 348 gy pad Dl H9dam L) el f0=VX+3=0 Lof

L, bdl La gy M 4,8 cod doladdl ods OY 1l . f)=0
I

1x*—4x2+2x-3+

n Lo yu) o PO =0 dovmeno 4 ,uS dolas JS 1 Walas el ds
. Gl jedad) e n i

4,-1/2,2 qay jada 3 Lually 2x° + 5x*- 14x-8=0 &> Je
o Dgluze jadadl Lam 0555 O oSay

2 L (x-2(x-5)(x +4) =0 Lwalldt >, 001 oo doladle Sl u..\.r—
294 &l OF i L 50 ydaS 4 9 7358 S 5 9 SN S
. -4,5,5,2,2,2 ¢»
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Solving Polynomial Equations aguadl 3pd8 S¥alae J>
A guS pidly WSyl Hgcadt
3ol 5,8 slaadl Ddia 2 + bi oS et 3ucal OIS 134 (1)
5! O 5 S Lududd-| Selall W3 P(x) = 0 dowsenall 4, ST
i8S Dolan JS OF &3 L Cal Ddor a-bi gl el S el
. Cigie (amly 1yl Js
SMalall OI3 P(x) = 0 Loeomaall 4 S3 Tdslaad) OIS 134 (2)
S 5 VB 5 S b g2 G 2t Vb Dy dy S
. Cal i a=vb NP
039> ol 3 LuS 1S bie OIS 15 1 AppuSll b pgikendt g il
Dolaadd 1yds -
BX"+a X" +a x"24eetax+a =0 a 20
o, ) Yels ¢ g ag I Male b O sSei dononall & Neleall e
=3 OgS 6x° +5x°-3x-2=0 J G S Ly ble O 13) Sl e
6 J.n‘_,‘-._‘ 83 9d_=0 C ‘._..9 O_,.i‘i‘,:tz ¢ X1 29 2 J.o‘_,.q 839Jows b
B g}l &SI Hadandl O lId Je . 26 0 23« £2 . £ Y
c X273 £1/6 « £1/3 « £1/2 « £2 o K1 oa
<13 Px) =0 Dalaadl olS 13) &1 3 b ¢ Qonsouall peliadt 2yl
1 pdiiadl Jalaad) OISy doemns & Dalas

X"+a X"l+a X*24eeetax+a =0,
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J—elge s Loz alael P(x) = 0 I 4, uSI jodadl O3S
Colaad) - a9 13] 2 4,uSd jadadl OS5 U Je o2y I
¢ 12 o 21 A dmall 12 0 Molaay 839d5me X0+ 207 - 11X - 12=0

.12 . 16 . +4 . 23

Oa il J3el P) =207 - 5% - 6x 44 3 i i SO 1 3-14 JUa

Example 3-14: For each real zero of P(x) = 2x® - 5x% - 6 x + 4. isolate the
zero between two consecutive integers.

;f‘ﬂu.\.s.‘.“.;.nd_,.i:é?oUAP(x)=213-5xz-6x+4 i, ON um
-5 5l 8 Ladisd! Hliw W) e G . Ldds liwl &Y
dr g od 13) Laslazal I o Luoa g )bt 52 d) L5 I
sde 3 PO @b dr giw LS 2 ey . 5 2ill oda S SLio Y
P(x)r.._...iuaii.,..,.,_fﬁ.l\ utyuss,gl.stsaﬁﬂsgw
o S Jaaadl S coasd U6y
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x|-5 -4 -3 -2 -1 0 1 2 3 4 5
P(x) |-341 -180 -77 -20 3 4 -5 -12 -5 28 99

Ly J5 yed Olilisee O, agd P =3 Ofy P(-2)=-20 Of Lo
O s Jaadb -1 5 =2ty e dee Jlia 098 Do gial| Lo
OY Vil 1 50 o Ui 1rdo Slin 058w P(1)=-5 5 P(0) =4
Jre o - 4 93 o o> e Bln 0S8 P@)=28 9 P(3)=-5
. PoO 3 Ll Sl IS e 05 055 @y L liwl W
S A a st e sl . Agdadadt selald GOty Ldadt 3guadt
299 Ay YOS I3) Lided| P) =0 ,9dad JAeY1 Al o
sedead 3o w—ah of ol ad b ddall Je 5lhy . a o S|
LIS Dk L b e 5l jeds dr g Y OIS 13 Ladsdl P =0
Ll sgusdly Lhadt 3adsdt sloey | die 5ude
Perer G X"+ 2 X" 42 XMy oot ax+a, =0, u_(_\
D odaid g, >0 9 Ldis
SIS az0c=x-a Je PO0J LS A desdl aie OS5 13] @
O3S i of durgo W) Ciadl 3 e Jaams 21 ol S
P =0 J indisd Hadad) SO el 10s a
FS b0 x-b Je Px) J LS 3 dadll e OIS 13) @
gl Jols eIl il 5 Wde Jams L1 slae Y
3 G| adadl IS oW dadl b 0585 (anall of) LILSI
. P(x)=0

ol JS e g I i il gl 1 315 Yl
. Lddsdl P(x)=2x*-5x*+ 6
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Example 3-15: Find an interval that contains all the real zeros of P(x) =2

x* - 5x% + 6.

PO Sliw ¥ el ds 15T e 531 b sl A o s

PO i i3l dm ST Joey 1 a pumaall sl Laiod|

bsaslou) . [a,b)szdl § ai Lidsl jlw Yl JS . Lads]
PO =258+ 6 o LS ) dend) At

1l 2-5+0+6 2i 2-5+0+6 312-5+40+6
+2-3-3 +4-2-4 +6+3+9
2-3-34+13 2-2-24+2 2+1+3+15

055 g0 WS Dol 5 s 0550 3 plaannly puis Loie
C P I Laddl Hlie N e W Aol s 34s ol o0 3
- b=3 0,5 dl e

-l 2-5+0+6

-2+7-7

2-7+7-1
‘:bLﬁj\UJ:u__ﬂlchs-;Lagbg%i-1rLua“th‘ﬂ|xm
P() 3 Lol Sl 33Y ol s 08y ST g8 -1 0555
.a=-1 dll.')u.\.p

o Gl 3) 5zl § Lddadl P() =203 5x%+ 6 s O 955

8, i}l 50y Ledser l 43 P3)#0 9 PC1)#0 OY Il . -1<x<3
c a9dod] 5,883 Lol cnd e leddl Y e Juy U

oald P(x) .)_9..\_:-:.“ '5}:_'.‘5 34> ) ‘)1 . Cnbl.ﬁ)u i:i_,l‘e.-\ suols
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Lo LY 3 it Sidowd 5Ll x (698 i pn Lidiizd) & Dlolaal)
o a3 L 233k 12 L Maed L pdlme a6l
el §ota 4 LY 207 -6 -ax 4P -2x 44 g5,

P(x) = 0 J i gadl Hadad! e OF WllaW )5 5106 J 4a
LI jedoadl sde L o a) e day sl b e 5T
lin o J51 of Pex) 6yLa) b ol eadl sae ol OF W) P =0
. AT 90 PP Sy ddall
4 506 P(x) = x° - 2%° + 2x* -3x+12=0 oS VS 2y e ﬁ\-d
SNs . (4-4) 51 4-2) sl 4 g PX)=0

P(-x) = (-x)° - 2(-x)° + 2(-x)? - 3(-x) + 12

=X+ 2+ 23 +3x+12=0

Il Hdar Lal J P(x) = 0 08 sl § alg ais )
U_J&_gngLaJiq-ljgrq-yJ.la-OJTZJi4i‘bdnﬂ . Al
c oS ,e pdr 9-@+ =4 Y

Approximating Real Zeros duiudnd! jlao¥! wipid
Lasts OLSGY) 5 09 ¥ PO) = 0 535! 5,458 Doleadl Jo die
iV i Lo ol OS5 L @l Gl JLin Y S sl
Wt Sar Ly Jolye olow | acdrd Lodis 4 ,uS il 45l
phaias o3 3] L (5 Jad il ) dany 31 C¥slaadl O plasel,
st UL ol et 15 PO =0 3 Lay 31 Lol gall 5oy

- ddgdnd| Sl Y and U E dlaw oSes boasle Sy
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£, giomad 3zl 3l ] Yol oy POO=0 3 i Ldos i
ik plsily IS Jas 5 Say L P = 0 3 i i s
P(a) 5,La) 0553 Eou b« a ddall A dond da gzl i)
dhw el Laadll )l plisuil  § jezd . P(D) 5)L2) e ddlises
Sl by sy e oy Bt 88 o) il Ui i
LB e Gglhall dx )
Ui x*+3x+8=0 [ Dolaal) idsd) Liall dxsl o 3-16 JUie
L e eed )
Fxample 3-16: Find a real zero of x* + 3x + 8 = 0 correct to two decimal places.
L PO =x"+3x+ 8 055 MW whlaW @)K s4eld plasaly
i Il o 1 g Lo Lk Hlies |
O9—S8 P(-1) = 4 3 P(-2) = 6 dmrg LS o) daadil) plus Ly
O i siee L POO =X+ 31+ 8 lawgrall el 4 b r\.xs.:....l.,
e gred) ianddl oy iy LonsS 3 daadd) O pase L -1y 2
R U | SR RPN P SPPRON | P PR L3P R E
D S Jaddt

X -1.0 - 1.1 -1.2 -13 -14 -1.5
P(x) 4 3.37 2.67 1.90 1.06 1.13

- 1.6 - 1.7 -1.8 -19 -2.0
- 0.80 -2.01 -3.23 - 4.56 -6

o155 216 m Lhall 0S8 I P(1.6) 9 Lo g P(-1.5) OF (55
3 -1.6 5l Je LS ) dodll plasuinly (g2l 031 OV s
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ot ki 5Lyl s S oozl (e 5 S CL-.-,.; N . -1.5

X - 1.50 - 1.51 -1.52
P(x) 0.13 0.03 - 0.07

gl 4y s plaserly 0558 I PC152) 5 or g0 PC1SD) O (55
siaisdl Saaall O [l L 152 5 151 e i deo dlans gl
sV 151 () o, b e ) L g Lo <152 5 151 o oy
Lagdl 0dn . -0.02 Iy a9 P(-1.515) dorg S5 Jr¥ . -1.52
1515 oy pds inall OF odaid L g0 PC-1.51) 5 LIl P(-1.515) J
eady oY L e 5 da b e V) JS 41,510
Al = ke Geady 2,88 2 0pSs AL L 151 05T e

. -151 92 XX +3x+8=0 J Lo gl driml

Rational Functions 4 S| Jigdli o

Rational Functions as,«SJ Jisf

3 P() O 13] . sgdodl 588 dby pw s oo 4,830 A1)
b R = P)/Qx) Sy LI OS5 94> oSS Q)
. Q(x) 9 P(x) Sl tlehu R 3 . Q) #0 G &y S

Vertical Asymptotes duwil duylit! logladds

z=5 Q) = 0 Jras =3 x —3 O oS R(x) = P(x)/Q(x) OIS 13}
icagd e 3] a5l ¥ L PO # 0 calS 1) i iplin bglas
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LS xtie Dle (x - 8) O3S QUI=0 5 POO=0 oy X =2 dinmo
e} 09558 39u> J5Y RO coais 13] . Q) 9 PO e S
. x=a Le i 4 R(x) J us\f_..J\

ol k G x=k ly b g RO I i 3 oyl Lasdd
Syme 2 RE) - opliadl Ladl e Dy Yy 0zl (Sl R(X) g
Giddees i 2d I bais R(x) Sl . P # 0 5 Q) =0 OY
. RX) 3 dplaalt b ghsdl,
J dlaadt bshsdl o Lot 3-17 JGa

Example 3-17: What are the vertical asymptotes of

R(x)=2%=3

ax =2 ..\_;;c';.:g_oio&.nsz-4=0 e B,a0 e RO OY \,Lu
X = -2 Leg2x-320 uji. x=2 L& . u“""‘i-J u“JL“‘u‘J" x=-2

e pylde fphs LIV R(X) (o} OsSe Sl L 2x-320 0,
cX=-2 9 x=2

Horizontal Asymptotes .30%1 4yt lglasd!

sl 3]y = a Lisi U)lie R(X) = POO/Q(X) iy St 1A O o5,
e ROO 3 0585« a9 09y x| sbssl e 2 2l I R
o0 RO 3 Y Gpliadt ey} oSey . U1y Casl Glae Y

. QX) 438 P(x) oo 4)lie

Cail Uylie 4 ROO 0558 Q) o> oo J5T POO oy cilS” 13) o

. y=0 Lo



Ao il Lyylde & R(X) O¢Sd R(X) d250 P(X) dayd osle 13
Po) 3 (iryo p ST ds Jolao) pticed! Jolasdl 2, S y = ayb,
. r-u-nﬂ-‘-" ‘ Q) J-“L‘-' b 9

Lolie ROO 3 05850 Y6 Q) darmyd oo ST PO daps slS 13) @

z s

. Ll
Js b Y Oy Lasd) Lasdl abdy OF Sledl RO a3 S0
8305 die ROO S gl bais Lialazey Dl Uan 1 04, . s
DY il e Sy g - O x|
¢ R(x) &bl Ay I3 Lab Y dpylied) Dokt o Lo 1 3-18 JUa
Example 3-18: What are the horizontal asymptotes of each rational function

R(x)?

(a) R(x)= 3 . (b) R(x)=—2—:(c) R(x) 2x+1

x2-1 x2—4 B 3+5x

L, oY |:Bs.2unrl.£dl2.’.-_,.>_,32a-_,.sun3x3 Lodlim,n (1)
- il oolie b RO I 058 Wi pliadl dmys plai Lad

de ylie b RO J 0458 2 plaedl dyon 1 o) D (o)
.y=0

2 pazadl awdl Jlotes O (ki 1 pliadly Judl o IS iy ()
de Gl ylie L RO S 0588 5 putined] plisdl Jalasg
. y=2/5

Graphing Rational Functions L;l.y Ad Sl Sgdl asay

o n9 sl Vsl suos Uil ROO = POOIQE) 2 ,uSIH B o)

4@ s doi A, i Q(X) 3 P(x) oo JS e 050 ol x
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Laibeal) dhpmally R(X) dad . 9d> P51 S| ROOD Gryd Gagdinsy p oo
il) 5 bladl i) y s e ) 5,bLall x die

i ,\iad) J:_,.Lad\ o0 JS e oy u.i.ﬂ o RO wslS Wi
f._.a_).a \_5...L__a-‘9 \3\ Y J_,_AM.H ;_;_’Jb _JLE..aS“_g JS'LA.'S.H_Q
S ijaus.” r—,n.]b _,Lﬂ...a&‘ ciy_g daladze laj.la:u A.ULM.H L_,Jaa.“
o b Jllulfslmfabuﬂgfﬂ\ laa.J\u.ab.Lc- ey_gy
iabgelt i) I L) e I |,.,-t . 4,_,LMJ| J,,J,,M
g S I Gl Gy o 2 3-19 JUa
Example 3-19: Sketch a graph of the rational function.
3
x2-1
sl Lyylie sy x=-1 3 x=1 we s, dylie b L R
coliel 0s8 MW Ll RO Ly OY Ulas ogis 4 o y=0 wie
L (0,-3) 32y o ssamadl padl 0456 RO)=3 OY Dk
. (1, @) ¢« (-1, 1) « (oo, -1) JUn.:JlQ.aSJ.:.éJSk}R(x) r...sua.uu...u
e ¥ o5 J) Al Wlaze R(x) U958 R(-x) = R(x)
3

221

R(x)=

R(2)=R(-2)= =1

R{0.5)=R(-0.5)=

3
(0.5)-1
i\l bghad) plasaaly . (05,-4) ¢ (0.5,4) « (2,1 « (2, 1) i

. 3-8 JS& P pdsedl Sl e Il e 5 sgaaeS
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Partial Fractions 4yl jgusdi o
Rational Fractions a4 yuSJi jeusSd
g((’;)) JO [ PR WP < <

Ixi-1
x+7x*-4

O 9Sd X B d9d> (5,58

LS S

Proper Fractions dududx! jeusd!

g0 STl iays ab OS5 g1 LuSIE S3 4o i SN
0553 BA . pliadh i ys sals of

4x%+1 5 2x—-13
x*-3x x*+5x+4

s Gt
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ol o ST il i s 4 0685 ) ST ga Ad g ST
WL L pliadl d s ol

2x°+6x2-9

x*-3x+2
29451 5,438 & gareaS igi pdll eSO HLST Wshs Koy Dol
. Ui~ 1,8

3, £l _
2x°+6x°-9 —2x+12+ 32x-33
x-3x+2 x2-3x+2

Partial Fractions dujal jpaSd!

) SN 39S § gamaS amall dudsd) S G Bole Sy
N R 1P I = R VPRSP (RS P
. sharall
2 3-20 JGa

-5 _ 3x-5 2 1 ‘

= = +
x-3x+2 (x-1)(x-2) x-1 x-2

Fundamental Theorems awtall OU ol
PRI el el e D )9S fgamaS Gidod) oS ALST Sy
oS b L Al b W elee (1)

C—h ,...S rLE.rJ J.AL:S 8419 5,0 (ax+b) U‘L’ J.o\; A9 154
¥ bl A Cu Alaxtd) Lm S pand Jalad) 1ig) DhLiad
o o (53l
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D 3-21 JGa
x+4 _ A + B
(x+7)(2x-1) x+7 2x-1

o oS Lpany Lhs- ol e (2)

rl_ld Jolas ol o3t o p 3de ax +b uJa:i-.!\ JoWl S 13
L5l 59uaS3 opo p el Joladl igd Bliad fras S

A A A

ax+b (ax+bf (ax+bF

. ‘.’)‘*"’ sole Y A, 3 k-t-"y AL Ay LAy S

D 3-22 Jta
-1 __A B
(x+4) x+4 (x+4)

Lo doly 51 5,80 ¥ dann 5 Jolss (3)

J_..fr\_u.‘ J.aLsS §d>19 5,0 ax’ + bx + ¢ P Jole axs 3]
‘;J\ S @" Jelall fay \JLLA: Cpho
Ax+B
ax’+bx+c

. i;:¢wd leadSs culyy B ¢« A &

obas dele S Lddow Sy ‘Jax+bx+cu1uo,.3| b
¢ dovns O Dbolany padodo>

: 3-23 Jia

x:-3 __A +Bx+C
(x-2)(x2+4) x-2  x*+4
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0,500 Lgaamy Ly Jalgs (4)
ax® + bx + ¢
b el e p sde Ladisall Bl e Ganys dule Sas 13
29S8V o P pas Jalall iy 'waw*‘r-sru‘““d‘\"‘s
AI’E+B| . Ax+B, ey AX+B
ax’+bx+c  (ad+bx+c) (ax®+bx+c)f

Bp.Apcc_'.._!‘_’prcApc...lecAch]tAld._:-_J-
: 3-24 JUa

x2—4x+1 =Ax+B+ Cx+D . Ex+F
(+1F(x+x+1) x’+1  (x+1f x'+x+1

Ayt jpuSll DeSaa staw!
.Finding the Partial Fractions Decomposition

Slaes | o LI 55hasdl O oS5 Lol )9S M 9SGe s pns 5 2een
Lglhadl el o § o Jgand] o ol SWolaadl de gasmes
sole (g u‘b\.m.” e gazrn d|un(..c-,\l.o L300 9S4 Sl
Ladd Sloyl )\4_...0‘9_(. Lo ole af ‘J\u‘b\.uu)\auo,ﬂu.l;
] Sl aazadt g SUEN of ol azall o i ol A=l

cban G b sl Wow gy il oz I Jadss OF do gaseadd

3 Lod) eS8 6SKie damal 1 3-25 Jide

Example 3-25: Find the partial fraction decomposition of

3x2+3x+7
(x=2 P (x*+1)
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> 4 oSiadl 15570650 bt 62l opn () « (2) 52! plasial,

3x3+3x+7 A B Cx+D
= + +—=
(x=2F(x*+1) x-2 (x=-2F x*+1

3x+3x+7  _ Alx=2){(x*+1 +B(x*+1)+(Cx+D}(x-2f
(x=2 P(x*+1) (x—2)’(x’+l)

INZ+3x+7=Ax?- 2Ax2 + Ax - 2A + Bx2 + B + Cx?- 4Cx? + Dx?
+4Cx - 4Dx + 4D

I+ IX+T=(A+0Ox*+(-2A+B-4C+D)x*+ (A +4C-4D)x +
(-2A + B + 4D)

p33 39050 S o NS 35 bluall spdodl & Vabas $lslas
Llod O¥olandl de gans u'l"' Jrars il Lo_s__g\_...n u’d"-\]‘

A+C=0
2A+B-4C+D=3
A+4C-4D=3

2A+B+4D=7

D=0 9 C=1 3B=5 3 A=-1 Je Jeass is gemadl odn Jou
L3 ol ) 9SO 39S 095

3x3+3x+7 . =1, 5 . x
(x~=2PF(x*+1) x-2 (x-2} x*+1
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-  Juaddl 1dd B
. a¥atatt ¢

. daladedf S¥alalf

. lagladdl S¥alas

. Al duladd! OYatatf
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. dgladed) Q¥ alall Claglaieg Gifadond!

-

Equations «¥alal| e

Dolaadl . OLLY Lagde ik opoldde o sols yai & YAl
Ol jaa (3) Ol izl (e Lne i) Lo dmgmmns 0555 !
ol byl Yt Lade sl 6 gl l (Jonlonadl ol (3l
C 3ol il JSS domms 0555 A Balaadl L ¥alandt by
ol Lede il 8l mmalt (Jualomadl of) Ol aased) g

c Botaadt ST Gyms B el 2 L gacad) el e

- 175 -



s I3 ey x=3 Wi Ladl dovew x+5=8 0555 1 4-1 JUa
. 4.[»:_9)..‘2..0 dolna

Example 4-1: x + 5 = 8 is true only for x = 3; it is a conditional equation.

Yoo X dad S Loemen (X - Y= (x-YNX+Y) O5ST 1 4-2 JGa

Example 4-2: x* - y? = (x - y)(x + y) is true only for all values of x and y;
it is an identity.

Jla OLS 1) . Uslaadl ios Japdodl odn OF Sy .y sloae

Sim Dslee S o sk Jglod) e il Vaio b domly J sgeree
< delsdl 1S sl |

Lisge 13 WY 2x+3=7 Dolaald ;i of J= g x=2 85 e
oL ol e U‘"’JL” )lfdﬂJ 2(2)+3=76L"J“’"';B°L"J‘ij=2
Jgdodl s (S 50) TN Jaadlyy o i’ 43 @3kaadl OF 51
.y=-6 9 x=5 3 y=2:x=1 9y=4. x=0 oa2x+y=4 Jolasld
S¥alal! Jogod o Aedidial! Cludeals

Operations Used in Transforming Equations

Wiy & gluze pbadh eslS Wl gluze ) b glze i 13) o

cx=y+z Jo Juamdd LI DS Iy Blo) LS x-y=z O

cx=3 Je bass pd Ll NS 0 2 L by x+2=5 0I5 13
S Zg__gl__.:.ne’l_;:“s:.jlf Ol oluze S Obgluse cuo 13 @

c Yy =8 D) 0585 4 saally (1M)y =267 3,b o an 13
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Ly o plaze pland) g ol plze o ol plonza Cannds 13} @
. ,&..oulplg....ﬂ\r.m
x=3 Jo hasd 4 Jo Ax=-12 b o 15] U

OLS 13) LI gl 09 S5 898} ks (] lglonia o @
. TP=Qmf(l/g) P =4n?.1/g  O4Sé T=2mf(1/g)

R TSP CEUATTI WO I IR LB ST RE L

=33V 13 3_3V . :
=37 ol = ol 154

) ey Sine gl pd e byt D glace ol slazall yusSine o
cx=3 08 Ix=1/3 13] A
Formulas Jniigalt
e ol 540l of dole i e Lar Dolao 92 O gl
DY A 5,1l s g A= Ol duiigl i ead
S VY B
2322 fUst Ui 09 ST g S - 5= (1/2)g? Og\d daglall b
o U i o2 abil 01 paidly s BLaadl oy BRI han,
bt e D O
WSS Oldesdl ki sl ) o Jazy ool el Y Oglé o
olaadl o dmlg Bk Ao glhandl pinadl il o Opldl 30
+ bkl WS s
Polynomial Equations agudal! 5,48 5% atall
axPy’z’ Sl Led oLz Ly, x Jeabaadl e das ga (a8 A
Jizs 8 Jolasdly i 3l darge L) oot T q o p Y G
-77 -



dodl d- )y p+q+r+..... u......-‘:ﬂ isgomma Jo Glhy . fealxall oo
ey 2, Y, X J,A\a.dl Ls?

2 dmys Y 36%2 . il s9am WIS 6 ¢ 3x%2,(1/2)x* 1 4-3 JUke
vz, x NS S50z 33 x

4,8 e IS QJJ";LPMMMJ?WUJ dadaddl .k

13 dgddl iy Ll G ey eda dgasd) 5,058 )0 L oo
ST (2]

b 3 Lyl e d0dadl 5,08 o8 3X%Yz 4+ xy?2 - 8x +3 [ 4-4 JGe

JS 8 zexya S 65z, y 0 S STy g4 x
« 2 ¢ Y o X O.A

Example 4-4: 3x3y4z+xyzzs-8x+3isaplynomial of degree 3in x, 4 in

y,5inz,7inx,7inyand z, 6in x and z, and 8 in x, y, and z.

:u.'o‘?lfxd_,@’_ud\uénl’.-).}.”&a:J.U-lij'.'fﬂéhl\ LS Sy
aox"+alx"-l+uo+an_lx+an=0; a,#0
.wywé”ﬂj:mjho@‘j'ant e cal caoc....:-
Ol 5y ol DS
ax+b=0 _9i ax+a =0
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ax’+bx+c=0 o ax’+ax+a,=0

(ormy Dolao) 2 dmyll (po
ax’+ax’+ ax+a,=0

(deaSs Dolma) 3 Doyl opo

Linear Equations didaidl S¥alatf o

beaw#0c>ax+b=0 Sl Ly doly Jggme b Lot Ustall
. x=-b/a u.la.u doladd odn J.’ . LU Lads

Lo ax+b=0 Sl 5 Lhadt Poladl OSS ¥ Loe
b 09— ST a1 M maadl Cisladdl 4 IS ol dsleall
DA o il Ssu sl peas o LS D15) 5] Dslasdd
el e dsly e ST el ar] S g b Y laadd
xSl Y x+8-2(x+ 1)=3x-6 dslaall J> : 4-5 JUa

Example 4-5: Solve the equation x + 8 - 2(x + 1) = 3x - 6 for x.

X+8-2(x+1)=3x-6 Yy oI s
X+8-2x-2=3x-6 iglizall :_QJ,.J\ega
-Xx+6=3x-6 dolaadl L
X+6-3x=3x-6-3x a8 piiad) sgdsdl OY au

S eiaadl dsdt Jja) dolaadt il b
o L doleadt B LT 2

Ax +6=-6 2L Dolaadt Lauy
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4X+6-6=6-6 UIstaald Gy b S s 6 b

Dslaadl 31 b1
4x=-12 diy\| Dolaed) Loy
p_=12 ialt Jalinay b JS ot |

4 ga Jolaadl iy
x=3 Cido W Dsleadt 3 ol st OV

Check Hlo>
3+8-2(3+1)=3(3)-6 pi—s e Ju pledn ¥l Lade
Oy glan peaSI OF Golas Lih yas

11-2(4)=9-67?

11-8=37

3=3 St s
Word Problems ausedS1 Lol

oy Lo S o 8 Jaf 0550 L0 ISV Plaadl o e
o el Gogaiadl by, il Lan 5 a LI oksdl | oolon
AL byys e emr 1 ol wydew 5] o¥nles J) DL
L ksl ga Dolaald) ol

o,e o dsbl daby  Bm gp it Jass O 13) 1 4-6 JUa
§ okl sl o2 L. 14m liia

Example 4-6: If the perimeter of a rectangle is 68 meters and the length is
14 meters more than the width, what are the dimensions of the rectangle?
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c w14 Jehll kel sae 08 oAl el sae w48
2[(w + 14) + w] =68
2w + 28 + 2w =68
4w + 28 = 68
4w =40
w=10
w+ 14 =24

L 10m as,ey 24m dyb

15 fiters | adld] cam (@) J 9SOl o ) 50 oS 1 4-7 Jle
§ Js=SIh (o 80% Jgloen Jo fuasd JgS U glons 60% 40

Example 4-7: How many liters of pure alcohol must be added to 15 liters
of a 60% alcohol solution to obtain an 80% alcohol solution?

Lela] eyl o ) Syl e ol ) sie ga oS

n + 0.60(15) = 080(n + 15) 5 S-S ldde g gemes OY | s
J S yldiad Uyl 0585 uinaS!
bglsadt
n+9=0.8n + 12
02n=3
n=15
Equations of lines lagladl! Q¥ alas o

Slope of a Line il Ju

b_ga_g‘;ﬂ'.».ao‘.g__gl-—g_\lL:.ab_gah',n’)‘sc.-.-_:-ax-i-by:cﬂaw‘
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m Jedt . L idoband (PLdl) ulod) SN a i Shasd
ylie y i (e ntll Opmy (0, y) ¢ (R, ) Gty jas Lasd

JT X iy
changeiny _ ¥, Y,
changeinx  x,-—X,
. X, #X, &

§ 3x-4y=12 Ll Joo oo Lo @ 4-8 JUe

Example 4-8: What is the slope of the line 3x - 4y = 12?
13) . 3x-dy= 12 el Bslas Oliiows oyt s} ] Yol o lim
©,-3) o Lidl a1 WY y=-3 5 3(0)-4y=12 0K x=0 OV
(4,-6) 0SS . y=-6 35 3(4)-4y=12 OS5 x=-4 =3\S 13)
c bl e g ,x 0 dks

m=J2"N _=3-(6)_3
T X, =X 0-(-4) 4

b 4a 3x-4y=12 Ll ).
Ly Ly xaskh) m&iﬁ_%ﬂl&dlo
cy S xeshy e 61 a CILIE Juedl e
v o oo d ol Kk G y=k @Y Ll e
oo 4 el S0l k Cum x=k gl 31 Lasdl e
cOme b et OF
il Watal ypantl sindly Jubl dine
Slope-Intercept Form of Equation of a Line

S 0953 (0, b) gy ys yearadl £ audly b Joo m O 13}
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= i - y-b
y=mx+b ol m= <=5

Jg—ams ¢ > b, m 4o b Jolaal | geameall PJ'.::J\JJ._._J\&:?..;
.y=mx+b gay

.6 any o jamamall padly -4 e Las Dolas .Lq—_gi . 4-9Jeﬁ
Example 4-9: Find the equation of the line wit slope -4 and y intercept 6.
.b=603_§=§6JM‘9}_2J‘3m=-4O‘,_§:§—4L_5J‘J¢A
o hidl Yolwad y=-4x+6 Je i y=mx+b S a9adly
Ll Walal dadd . Judf ddua

Slope-Point Form of Equation of a Line

x, y) ik Y Jsamed (x,y) daid) N5 jap9 m L Juo O 13)
dhwe 095 . (Y-yp=m(x-x) s m=(y-y)(x-x) S .La:'-.J‘u.l.c«
c Y-y =mx-x) o badl dolasd daid el

c 23 ey (1,-2) dhidl ey MY basd) Doles ST 1 4-10 JU

Example 4-10: Write the equation of the line passing through the point
(1, -2) and having slope -2/3.

y-y, =m(x-x) 5 gbsas m=-2/3 ¢ (x,y) =(1,-2) OY L
3y+2)=-2x+ 1) Jo hasi oaddly+2=-23(x- 1) e Jamd
C2x+3y=-4 |,
i) Walal (niladil diue

‘Two-Point Form of Equation of a Line
oo U385 (x,y,) « (X, Y) Geshds Vs Jasdi e 13)
dolaall s el . X, # X Ols 154 m=(y,-y)(x,-x)
u.LG J.a:.-u y-y,=m(x-x)
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Y;~Y
Y%= _xl(x—x,)

2
o bl Bolaa) pubaid! Tins
ey =327
Y-y, X, ~x (x—x,)

. x, # x, O 15}
cx=x, el 3 B3 e Jeass x,=x, O 13) e
cy=y, B Ll e Jeass y, =y, OIS 13) e
C(4,4) « (3,6) IV Ll Lasdl dolas ST 2 4-11 JUe

Example 4-11: Write the equation of the line passing (3, 6) and (-4, 4).

P 028 o5 (¥ = (4 4) ¢ (x,y) =3, 6) S

—y =227
Y-V, J(2_,(l(x x,)

- 4=6 ( _

Iy -6)=-2(x-3)
Ty +42=-2x+6
2x - Ty =-36

. 2x-Ty=-36 & (-4,4) « (3,6) ;pzhidll J O Lasedl dslae
Intercept Form of Equation of a Line laidt datat ‘waladl! dine

b_,_by_.‘)_g..m:uﬁj_a-‘ga‘,_bx_])_,.ampkwa\s 15}
2 dasd) dolas (0,b) ¢ (a,0) Leddl I jannd

~p=0=b__
y .b—a_o'—'(x 0)

boa e NS OIS 13) bx+ay =ab J| juasis g a0 sl 13)

e i G o
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P A
a+b L

YJJ_’mJbJWﬁHJXJ"_’IAJaJ}MPJ?L’.J‘OK |Jl
2 Lasdl Dolas 36Sd Lo jud bLa e WS Oy
X4 Y=
a+b :
c4x-3y =12 L) i) geamad) 51 Y1 ar ol 1 4-12 JUle
Example 4-12: Find the intercepts of the line 4x - 3y = 12,

s Jrad 12 e 4x -3y =12 Polrall iy

X, Y
3+=z=1

y_] Al #5793 JAXJ BYW-L ¥ 9}7_-4x-3y=12.]=.:'-nUQ}§._._§
. -4 ¢
A dulaidi QW alalf o
Simultaneous Linear Equations

T las e (o Deglas

Systems of Two Linear Equations
C,b,a Cus ax+bx=c diwmall by, x cpeicall 5 Gdasdl Jolaa
SYaleadl odin e it Uyued 3] . il LeadS L bla g el

ax+by=c,

ax+by=c,
daghine of . o ggmes B wids s T pedolee e Ulas Wi J g
Vox ol 95 o Gl . g geme S el pandas adsles
VY INTICR EXPNUIE D g PR RC EXPUN TIERCI R v 25 S TN ¢ 9%
. (5,2) spx-y=3 9 x+y=T7 judslaad] Y ot SUA
sl O¥olaad N oda Jio Jod 3,b &MWL T 30
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e YL slanadt W¥staadt oyl = o3 13] L Zodadt o) ety Joudt o
G slio i) w¥slasdl 5 Jealoeadl dof @ dalas Jasms
S¥aleal paard dibisen & gluzall C¥slaall SHLAY lS 3] L Gsue

co¥slaadl & LU dlaze ¥sledd | whyla) wolS 3] L des W)

L

D oedolaadl el L Do
(ID2x-y=4
(2Q)x+2y=-3
i Jramdd (2) e Gaer 32 3 (1) i y S
2 () : 4x-y=8 |
(2) : X+2y=-3

5

e.-.-.]l.: : 5x =5 o x=1
Jodl 00Sd Ly = -2 51 2-y=4 Je Juamly () Jd x=1 Los
L (1,2) g2 3 () 3 Y
3=-3 5l 14262)=-3 Jo Joamd 2) Sy=-2(x=1 o i
T Jspaadl BV Joalonadl o dad darsl oy gy o1 o
S Bslaadl el odn oo pshmall pdalaedl e Al
y=2x-4u.lr-J...a.>| (D) opo 4LV (2) 9 (1) doghazall 2ol - S
Jag e x+22x-H=-3 Je bamid (2) B dendll odn jo5e
Yy =2 e fand @) ol (D) et S x=1 an . x=1 )
c(1,-2) g ol
C opaaions Gl Jo Jasd Gl elsbaadl gl gl JB0 0
. bolsloda éeLi.. dbid (x,y) OWla=Yb Jan ,_,.':3“ Jodi
@ x+2=-33M2x-y=43 3V Jodl Of oy 41 S
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C(1,-2) Ul ceSiay=-2 « x=1 4a

dda:l) ooy stald
()2x-y=4
(2) x+2y=-3 4-1 J5&

Lol 09 Vg didto b o ¥slnadl 4S5 o 3lgne bghasdl oS 13)
CGT Y

9n LaS umiiie o 0SS, ()2x+2y=8 « B)x+y=2 | Mo
. 4-2 Js_ﬂluéc.bb

H RN U FIRY [
B x+y=2 1
4)2x+2y=8

) 2% 2y 4-2 J5&
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Dependent equations

5 x+y=1
(6) 4x+4y=4

4-3 JS&
he b IS 0585 I Lphidl judy dlaras il ¥slead) ey
Sl 9s8d Ladl o Slg¥ sus dr g 4Y Vliy Jod dlies Lasdl
(6) 4x +4y=4 « ) x+y=1 Mo ¢« &Y Jgladdl NLRPLTE N ous
4'3J$‘:'U'°C“"JJ’°L‘S\J"‘J""‘-“"J"° Lv_,gv

dlad O¥atas S5 0 Oleglaids
Systems of Three Linear Equations
Ol piie OIS 5 Akt OWslae SN e §9Sad daglazadl fous
i Bl o F slaadl e it 6l e Jealomad) | LBy
o1 dolas s oo O semall
O -Sars Sl giams Joaloes S 5 sl ¥slaed) Jaes
1959 Sdsg Lylgnadl Ol saadt o L ST ol puthl o gteme gy
ol Ol gne O ks OF o Sy Yo W oy (it b
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NIV FUUR PR P PR JEX PISp JUIIRTRVRCD ST
i J2o Bty Ll B Ol s N ablas OF Sy
 didze ol gl 358 Dy 3 oS pesSedl ulaslodls
ax + by + cz =d §)saally falowe OW 3 Lhasdt OUWsleadl O ST
13§ . iw c,b,a &M S oty Lid> slael d,c,ba eom
sttt oda 2o e SO U e
ax+by+cz=d
ax+by+cz=d,
a,x+by +¢,z=d,
L) Jguid &0 o¥sladd S i 1 (%, Y, 2) o8 L gl
coVWolaedl doghazead S Jsdl e Llas
OYslaadl doghia > 1 4-13 JUa
Example 4-13: Solve the system of equations
(1) 2x+5y+4z=4
(2) X+4x+3z=1
3 x-3y-2z=5

(3) 2 (@) P ("j (2) 9 (1) o X ‘}bi I o

2x+5y+4z=4 x+4y+3z=1
-2x-  8y-6z=-2 -X+3y+2z=-5
4) -3y-2z=2 (5) Ty +5z=-4

(5) « (4) oz OV Gios

-15y-10z=10
14y + 10z =-8
(6) -y=2
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sz Jou (5) of (4) $ Lasadly . y=2 Jo Juamd (6) Jou
4) -3(-2)-2z=2
+6-2z=2
2z=-4

z=2

cx 3 Jeu (3) 51 (2) oF (1) b Laiedly
(1) 2X +5(-2) +4(2) =4
2x-10+8=4
2x-2=4
2x=6

x=3

.« (3,-2,2) oa OYWslaadl doghio o
c(3)  (2) < (1) DY¥slaadl 5 (2,-2,3) daddl Lay gaxny Jedl s
(1) 2(3) + 5(-2) + 4(2) = 4
6-10+8=4
4=4
(2) 3+4(-2)+3(2)=1
3-8+6=1
1=1
(3) 3-3(-2)-2(2)=5
3+6-4=5
5=5
SO SWolasdl e Ldslas 1S 3 dovmns 055 (2,-2,3) S,
NI AES RV
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Inequalities @lidbuid! o
oo ol ol pST polaadl of duiisd! @) a1 OF s » &t
el 5] gae e b day L T ke of L dad
(g0 J.Lpa-b_,i)«bo.oﬁfia»dw'a>b(l)
. (g,.JL...;.Lc-a-b_gi)«bo.o,i..oia»u;.q.‘fa<b(2)
. «bg_,L.J‘_gio.nﬂSia»u:.dazb(B)
. «b ol _gio,o‘,i...oia» u.i.a.'v'aSb(4)
. <<2o»)¢io$]_9}.aoo;ia»u.u30<a<2(5)
.« ZUAJSTUSJJ 'Zdju'ji&nx{ix » g5 25x<2 (6)
il gmadl gy oel) diind ! il IS deens Adllall Al 0 9SS
0 Bl b g a I Lidndl il JSI donoms 0955 (@- b > -1
Vo ol L go 055 i 32 s a0
g, >l wtﬁmlﬂuw&,,uthgw,s
c8 o ST x e i douzes 095 x-5>3 I L 8l ol
x<y sa>b &yladl . 5LY i LW e>d ga>b Oyl
L Y

Principles of Inequalities GUubll Jsied

sacal) sy B b IS jawl of w5l 13) dylee 6,8 Lua Y (1)
il a i e dm o i oSy o Q3 L L i)
OLS 1) Ul . 6, ews byay = casd) I dolaad)
.a-b>0 ga-c>b-c ga+c>b+c OySda>h
Sdcall iy Lol b b ol oy 3] dlaadl L) L Y (2)
OB k>0 ga>b Ol B A . Crgadl
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a b
" 9 ka > kb

asdl s Jo 0 ol UL IS i 15] Dulzedt 58] Sar (3)
OB k<0 5a>b Ol B} &I . L

%<% 9 ka < kb
. a"<b™ (Ss a">b" OB yaemge nboa 3 a>b ilS 13) (4)
: 4-14 JGa
59125564 gl 5254 5458 5>4 ( )
—;— 314— _gi 57 <43
599 4>3 i 16 >9 095 16>9 (o)
-}T<%- ol 167 <912

. (@a+c) > (b+d) O c>d 9 a>b O\ 13] (5)

.ac>bd OP c>d>0 9 a>b>0 OIS 13} (6)

Absolute Value Inequalities ddllal) asdll Qlalde

s dagl) Sl fas le iuall oo Blaadl 205 £aS) Zallaly Zadl
X - a LaSdl Of Jgdd b>0 Co> Ix-al =b 0K Loaie . laisll
g0 b doas x - a ol il aey Olas gl e b lUde O e dag
095 b>0 o x-2l >b O) Jsis Loie . Laall jla colas gl
Judlo x-a<-b ol x-a>b JUd . bu.n,.fi 0 ;o blus e x-a
‘_\_'iioo_»ﬁ‘__..aulsx-a OS5 b>0 Lo |x-al <b O\ 15)
b s (-b ) 0 o ST Slum gl o b oy s x-2 UL . b e
0 oo ST bam P e

- 02 _



x B W ololadl e JS J 1 4-15 JUe
Example 4-15: Solve each of these inequalities for x.
|x+4] <7 (u) |x-3|>4( i)
|x-51>-5 () [x-5]<-3 (=)
x < -1 ol x>7 2B x-3<4 of x-3>4 OeS [x-31>4 ( i)
Mot s U e ) (oo, -1 U (7,00) oa Jodt Q2 O S

5,2 0455y -11<x<3 MU -T<x+4<7 055 [x+4] <7 (o)
. (-11,3) Jsd!

oo ST 055 Slue W Gkl 01 OY s [x-5] <3 (=)
dillaad ) dandl 4SS Lo Blin 0455 ¥ By 1awe sl ol
VYS! I SO <P VARV TS S PO

JSY e Uty 0585 Lailladt ot OY Ul [x+3]>-5 (5)
Slae Y1 IS ga Jodl 06 . =5 e ST Ly 04 oo
o (oo, 00) iS5 Jodd 6 pad) g i

Higher Degree Inequalities ‘_,.I.si Ay e Clulall
U P [ ST I PN | [ PR P P [ RPN ICH PR BEN [ P
i O35 1) >0 38 3] jaall me laied) §ylie Usls osead
o Lorsn Joobsadl dad 2ol ol 0je Jools Jams 3 x oy
Sl Jmms I x syl § bbb 0 <0 O 1) &
C UL ol gl G 5y

Comsbae¥ Glale e b Jaamisd Ui Llie fx) OIS 13)
LSaadt oyl e blazel 0¥l jlasly @3 o) Saus
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sde hsz Ledie . dpglladl Jladadl 65La] Lee it By cpalelal
c Lajlaet Corlgdl O sae caslanad do-lg f(x) B ol gal!
a9y Jole 2 Jo gamy Lidie 4 OYLII Dae 055 U
o Joles 4 ae DI 16 dlay 3 Jolgadl 095 Lotze O 8
S 835 ey rse Ll (o OVl il 60 JS
N b YL L b el L Ly b S L I e

WY Lhsee Gy b a9 SN AR M Dby &b Jla

c x4+ 15 <8x dyladl > 1 4-16 JGa

Example 4-16: Solve the inequality x> + 15 < 8x.
USG9 (x-3)(x-5)<0 9 x*-8x+15<0 Jilas x*+ 15 < 8x Ly Lzl
=B Wl (- 5) 5 (x - 3) b Sl 05 Lidis i
Y O N | P Wy WP g TP 1) g YOE | B WAL P S |
ol Jeols 8] aas ol Jaes e
S i e b Je 5,3 ag x I i o) ol ag
(x-5) 9 (x-3) b Jool- 55L0] Sl | J plos . ol 8 &
(-4 St L) et sl ¥ itz o e JST b

x-3 - i+ 4

x-5 - : - +
+

i 1
T

- 3
Problem + -

4-4 JS&
. a5l dakita o] pu iy - dad JS IV Ll ‘-ij-r-"ﬁ
Lty Jodl b cnd o o)l OF o pdaizad) Ll Joy
Jedl it i OF e Jaanel
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Sl b gis Jolgadl L) o slas W bs b by Layl
Joldb OLS” 5] Lo syt 4Lt dadlS 5 dll 8 &, Ls) L
dasdS 1 Ut 3 5l e 5,2l L dtas Wt i) (Il o U go
i) Wlaed -2 065 Joladl OF (5,0 x-3 3 bboge s 4,
33 g il L os)la) Lol Waws -4 e @l oS (x-5) Jolals -
C A3l (x - 5) 9 i e (x - 3) dmd 3.5 Sy dad (6T Slse S
9% -3 5 W OF s 12 L@l Ul 5 ey 5l B sl
9 bl cow Sy G eSedt Dliadt 5)a) susw . Uarge x-5
95 34 O 13 L sl ode S Jetendt wlyla] daid gy 5,8 S
Jols O Wl el o5 of 0pdd) Jol 5 Jol galt oy
Jotlgadl s (63,8 34e OLS 3] L U go denll 55 o] 000
C UL il 5 el 05808 WL

il Hliss S (x-3)(x-5) <0 Ll Gisar 3 o il s
09535 « 3 g spdl o5 . ooyl Lbie 5 LW 6Lyl of
.3, 5) 5dll o8 09y JdUs I, (44 IS L) I L
Ub,e S8 5l b sy cond 5 53 01 e Jud Ll Y1 condsud
= ot 16l 3] el L Labaiine cilS G gt b gl OY U3
il i\ duis @l sl e Yy Gyye Uagh Jamis LSS ool
L33 O
(3,5) s ,24) ga x*+15<8x Jo
cdnplaadl Jo 1 4-17 JUe

Example 4-17: Solve the inequality

x-3
x(x+4)

Lo o) o) OF (g plially lod) Poiy 0 po 41 gaadl O\
- 95 —
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3x=3 3x=0 asx+4=0¢x-3=0.x=0Jsl> oLl
fapl P ol L il o o OW D) L x=
L 45 JSHY migr gp LS 3dmes o 3

-3 - - - +
X - . - + +
x+4 - 0+ o+ +
—— — v -
Problem — —45 + OE - +
4-5 JS&

sLayl . sl B Jole S5 wihla) o Lt el clylayl
g s 3k 065 bazs + 0sSss Bluadl 55la] oo ks Jid
uﬂ Tl . G Jolgadl oo (63,5 due 095 Leis — 5 LILL Jal gall
N 9555 i Sl Jazo u.nr.,sw.,u s Al
Do oSO plie Jamy -4 4 0 OY (5 . 3 U3 xu s s
. (4-5 JSa Jhil) -4 0 I L:.L.n...n\.la,f...ajg PISRERAE

b by ho o] Do o wiglhe 6l ) ez DLt OY
St 0o LW L wlylal bahses b+ syl by gbLall
. (4, 0) U [3,0) 50l g Jodl o9 [3,0) 5 (4,0) Ol pdl) ga
pseial 43 [ aadl @l O ¥ L il sl S pets U
ol pliiy Lo Wsls ) ugdlly Jodl 8 dlanbs dom ol danadl OY
TIPS R A VD ()

Oiriie b udadd] Gyl
Linear Inequalities in Two Variables

6 Y) g2 JS e ¥.x peiae B ddsdl Olyladt e sy
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Obd Uk s Lokl idobaad) 0Y (ki iy Lsed) o !
b Lsdl el asl e Lablghl Laadl oo L) iy Ll
Ciladl G o5 s 5l 2 5la] plseal die o g 0585 Ll
Al @LIG st iy Laadl J gl a9 Lo Bole
L 2x-y<3 Jo daal 1 4-18 JUa
Example 4-18: Find the solutions for 2x - y £ 3.
l:.lés.2)(’-y=33_ag2x-y§31;q,\¢:dl¢é_luﬂ|.]asd\~)3
Mvazs Wi pusninsy Jodb oo Is o Jasdl 0556 < 50 3 ol
(46 s Jkil) QU e YN
UYal) Uikt Ui patinins Jodl o b od Jaidl OIS 13|
Vo o hidl o sl Cilger do-b e dikizad) Jls . o3 e

.‘..

2
/.

2x-v=13

N

7
LS8 7/4 x
707 // .0

N

I

.k‘\




adly o Sl il ezl 095 Jodl dilate dydow o L lald
e e Ll J§ 065 &baedl Hlas ¥ dhis i 15) . Ll Je
i ladl Sl il iss o 13) . Jodl S 5agrge Ll e ol
SUL L ol 83 ge Jasdl e cilandt Hdn e il 6§ OS5 D
b @ e bsdl e 2T Ciladl el kB 0SS

Lpoldscd Say WS 2x-y =3 Jasdl Je cod P2, 4) daiddl
2(2)-4<3 Ao 2x-y<$3 Lylaadl 4 (2,4) Hasgan o Lt dhis
ihis Jo gymall bidl Cilr i . 053 0Y (s Guews 1dag
QG, -2) Lyl 45 US 1] . Jodl ddhaze J) 5,5 W (2,4) 5L
el g ldag 12<3 Je Llas 45 LSy 2x-y<3 3 Logsy
S ddhiall ks s 0da . Q e Ll e g5 AW LD UST
. P dhid) plasenly b

AUba dbbiadl e faxiyg 4-6 Sl 290 2x-yS3 J=-
. Ll
Systems of Linear Inequalities dudadlt SUJLGL! Slaglisa
Lnglaze Loyt aif Jgds cpjwine B ST of panalas Ly O 15
kel ol - ablar ga Loghiiall odn Jog Lhsdl by lzadl o
C ol laall ot gblie - &S rzall




cx-2y<-1 9 2x+y>3 Olhlaadl deghie J> o 4-19 JUa
Example 4-19: Solve the system of inequalities 2x + y >3 and x - 2y <-1.
coslmadl i Je x-2y=-1 3 2x+y=3 i, blall Q‘)IAL-AJ\‘...“JJ
2x+y>3uJ‘5‘,_':.>'.;).:}-433! ‘J.Im GLEAO_,‘.LZX+)I=3L$J‘
x2Sl b syme &Y Dl Dlase x- 2y =-1 Ll 958 s

ekl e sl e dably cond (0,5) Jro L) dbE s O
. LS il ddzadl b Yy P L S e cile ol ) sais
G999 ees ] Sl ibaze OgSb doero 200)+5>3 OY Ul
e Jodl dihied dovmes 0-2(5)<-1 OY Dl . 2x+y=3 L
. x-2y=-1 Ll JL‘"T-’ o

4-7 JSall {lbell daliadl oo x-2y<1 9 2x+y>3 o dibie
o dllhaY dalaiel) damed) faned) Jasdl e 55 Je (ggmma s

y <
/Hy:-l

Y

5
p——tt —
-5 o \ 5 :
LY
\
\\
LY
LY
\“
-5 ‘\\2! +y=3
\
L
|
47 Js&



duladnll S¥slall Cleglaieg Sladat! o
Determinants and Systems of Linear Equations

Determinants of Second Order 4ol Wo W je Sladat

s e
a| bl
3 b,
Q‘DJAFJU—M@W}, b, «a, «b «a slaed u.uiu,l.p‘_}“___,

a, b,

=ab,—-b
32 bz 172 la'.'

;_21 _;’= (2)(=2)-(3)(-1)==4+3=—1

ciall 8 -2 -1 o eatally J3 W Caal) $03 0 2 o eanadl L
= 72 0 3 el JoYl spasdl 5 -1 0 2 fpjeaiall L SU
92 S W LM o sdmadl L e sl 0555 . U 3 ganl

Al 05

Cramer’s Rule i S cusld

b ginan plaseialy ol seme 3 Gatedasdl] adalaall laghize Jo Say
o oYolaadt Loglate wodaef 13§ 45t Lo
ax+by=c,
ax+by=c, (4. 1)
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idadt NSl b iy iy b s st (Sandl o

Q55

e b 1

_ clbz_blcz _ 3,Cc,— ¢,

= , y= b,-b,a,#0
albz—bIaZ albz_bla'.' (31 S )

Dk WS Aol oy udl Oligiae WYLy ¢ x r.,_.i]\a.ln L5 Sy

c, b, a ¢
c, b,

x=—2 22l 3 5
a, b, a, b,
2, b, 3, b,

(4.2)

Sl B sl Glgian Je 4 guaall .C?"‘M AL gt e
DLk
samally kel 42) plia ( i)

a'l bl
3, b,

Llanad) Y¥slaadl 5 WS dijey « x O Vuleo oo Led bl

o SOl du ade 5l o D 4 jlzy daowed! fda . (41)

Jial 35 o5lomy | ol ! @ ggmadt o Molan 3g0e O lae D
il dze L (A1) o e W LI Je el gl 5 50lay
3doadl e glai colgtl sgolay x uhzall @ dalaadl 3gas
D sdmall by el an 3g0le Jlizal e . Dy 3yl

. Dy dded! sdmadl e i gl g8l 5 gala
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daglizall Jo & 4-20 St

Example 4-20: Solve the system

2x +3y =8
X-2y=-3
2 3 ’ .
D= =2(=2)-3(1)=-7 4oy « x 5o VWS plis
p=| % 3|=8(-2)-3(-3)=—7
-3 -2
D[ Jl2(-3)-8(1)=-14
D, - D, -
X=—=——=], y= =—H-=2
D -7 D -7

c(1,2) 9o daghiadl > 06, Uy

Determinants of Third Order aGH 4,31 Jo Sladadl
D el
a b c
8 b, c,
a'.‘ b3 c.\
sy sdacl BNy pdo OW J Lije olis dad o gammally
DS AL sdeadl dad ey ciyadly L AW LS e du o
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a|bz°3 + b|c2a3 + c,a2b3 - c|b2a3 - alczb_1 - bac,

S¥sloaadl Jod Db o Jealoes 3 5 Dbl SYolaall ol S 52

« Z Y ¢« X (Jj 4’.,.‘\...”
ax+by+cz=d,
aX+by+cz=d,
ax + by +c;z=d, (4-3)

J=- uﬁu c ol s B ol OYslael) el S 5aeld) slazel =Y
S Jead (4.3) 5 odslaa
x= db,c,+c,db,+b,c,d,—c,b,d,—b,dic,-dicb,
a,b,c,+b,c,a,+c,ab,—~c,bja,—bac,—acb,
__3de+cad+dca—cda—dac,—acd
ab,c,+bca+cab,—cb,a,-bac,—acb,
7= 3,b,d,+dab,+b,da,—dba,—b,a,d,—adb,
ab,c,+b,ca,+¢,ab,—c,ba,—bjac,—acb,

b WS Olsasadt dYuy Leuls Sy

3 b, ¢ d b ¢ a d a b d
D=|% b, ¢ D‘=dzb2 G Dy=azdz°2 Dz=azb2 d,
3 b, g d b, c 3 4, g 3 b, d,

u;_,\....g,)fi_iiub_;:...i;_g(&:%)u_iz‘yc X O elas ddoe 9o D
1,5 s ls plasa ) Sy DS Vrieo 3ty D OIS 13} . 1iw

- w¥olaadl doglaie o
Co (X, ,2) on doghaiddl Jo
D, D, D,
X= ’ y:—-’ =
D D D
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D Jaddl s 8

uaw 7 G¥ sttt

. A S¥sal > Gl V7

L 28U e Jal>y gaane V

. J9uadl dale v

Ayl SY¥atatl

. Olaw S e dugdadl O¥slall Gleglaie V7
Quadratic Equations duauw ydi S¥alall o
G ax® + bx + ¢ = 0 S x jpazadl $ Gy I Dolaad) ds-U
La%0 yulgic ob sa

3x-5=0 9 2 +x-6=0 5 x-6x+5=0 04 SUI

Asly ehise (B doan 5 D¥olas

c=031b=0 05 Il o dolS il duay I Doledd!
. 3x*=0 5 Tx*-2x=0 5 4x*-5=0 Jze
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Gl 0ds X b . Dolnedl i D) X 0d dr g5 domny Dolas Sl
. Dolaadl Hoda of Hliwl e

0S5 I . x =3 9x=2 xh..&},e s x’2-5x+6=0 ied
. Dslaal) ede of Hliwi x=3 5 x=2
. dgaud A3 Sl S Gplo e
Methods of Solving Quadratic Equations
L (b=0 L) aay ) Hdadl ot [1]
X b Ay ) Dolaadl e JS J>- 1 571 Jle

2+9=0 () 2x2-21=0 (o) x2-4=0 (1)
Example 5-1: Solve each quadratic equation for x.
(@)x*-4=0 (b)2x*-21=0 ©)x*+9=0

cx=2,-2 50dadl 0S5 x=22 9 x*=4 SBU x*-4=0 ( i)
J93adl OgSSy =212 S 2x*-21=0 (o)

=+ f21)_41
X 1ﬂ2) +24(42)

Cx=5f9) =230 Ledaml OS5y =9 Y X+9=0 (=)

Jedly J=dl [@]
.x‘_séliﬁj'ﬂaw‘_}fg},-ls-z‘]@l
x2-5x+6=0(u..a) 7x2—5x=0( i)

Example 5-2: Solve each quadratic equation for x.
(@) 7x*-5x =0 (b) x*-5x+6=0

Jol= O s . x(7x-5) =0 LgulS S ay 763 -5x=0 ( 1)
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x=0 34S5 B 7x-5=0 3f x=0 Gl Ldasd! SYslasl
. dolaadi J_g..!..-g-uhx=5ﬂ 9
Sl OY Dl L (x-3)(x-2)=0 LglsS Sy x*-5x+6=0 (o)
Jois inall Golws Jule JS%aai duo ol o0l
OeSy S L x-2=0 9 x-3=0 vl pudasdl pdslaadd
. Dolaadl jed> laa x=2 9 x=3
pal ey ot [2]
. x2-6x-2=0 J> © 5-3 JUa
Example 5-3: Solve x*- 6x -2 =0.
c =G LI Sl dsdly BLLY s b o semall STl
RRCIRT

xt-6x=2
s X Jolao Ciaai aype 98 9 o Gaslad! 0 SS9 G
O35 Lol Lagpo oy V1 3l
(x-37%=11 o x-6x+9=2+9

cx=3 V11 a dglhadl jeldadl OgSiy x-3= £V11 GBS

OSBL ax® +bx +c =0 Loy I Polaadl J gl aws

~bt 4 b—4ac
X=
2a

. w,:]l HEPINL kﬁ“ b’ - 4ac u..\.ﬁ o,u:.’ an=
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cc=1c¢b=-5,a=3 La.2¢-5x+1=0 J> : 5-4 Jta
Example 5-4: Solve 2x’ - 5x + 1 =0. Herea=3,b=-5,c = 1.

ool=s)ed(=5F-a(3)(1) _s5:413
2(3) 6

c=3 (b=-6(a=4 La . 4x*-6x+3=0 J> : 5-5 JUs
Example 5-5: Solve 4x*-6x +3=0.Herea=4,b=-6,c = 3.

_—(=6)s{(c6F-4(4)(3) _6:4-12 _622i43

= 2(4) 8 8

_2(3:i43)_3:i43
4

8

St gt [ 2]
y =0 J)5blalx od o al+bx+c=0 jlivl ol Liindl ;gdad]
Jsdodl 055 AW L LM y=ad+bxtc (IS abaidl ausy o
13 2 x ygme g ¢SS laidl Lgd abliy ) Ll x Dlgtas|

W QW Jal>g poane o
Sum and product of the Roots
o +bx+c=0 Gy I Dolaadl jodod P il Juols S ¢ gazeall
. P=cla g S=-bla aus
¢ S=-I2 Cumc=6 ¢ b=7 « a=2 di 2+ Tx-6=0 5 1]
. P=-62=-3
Bolaady w1y o1 Wby B Lag 1 Dolaadt OF el3 Ly
Al UYL P =11, 39S =1 +1, > x*-Sx+P=0
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C P +3x-10=0 of x*-(2-5)x+2(-5)=0 8 x=-5 « x=2 lalydar

Nature of the Roots gl daslo o

. b - dac jeedl daulg ax? +bx +c=0 Dolaadl Heda dand s

c Alsw 5sdadl Of Jeis i ddsedl sum gl Je Hadad) gad Leaie

D OeS . i dlasl e b a O Lol b

. dyolize b A y3dad) OSG b2-4ac>0 OWS 13) (1)

. oliieg dudds> adadl 09SG bP-4ac=0 O 13) (2)

C s Hedadl 00 b -dac <0 OIS 13) (3)
DO &S slaefc o b O Lol b

s9dsdl 0eSab Vi ealw ¥ Lol Ly e b2 - dac OIS 13) (1)
e olute b9 & S LAd

c alaey &Sy i 9 dandl OS5 b2 -4ac=0 OIS 13) (2)

igdgd> yadad] 09 G Ly,e jud 539 b2-dac>0 O 13§ (3)
cdoluie 9 LS b

cidsa Hedad) OS5 b2 -4ac <0 OIS 13) (4)

b®- dac =77 - 4(2)(-6) = 97 el 27+ 7x-6=0 Dolaad) O SU

oo ;b g b S 8 A 9da L

Radical Equations ddjdadl Q¥ alall e
W dad! dede o ST o1 Jsgams Y Dolae oa & ydadt Dolaall

TN o S e S gl
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B, bl Ay i dedt 3sa st as§ el d,dadt S¥stadd) Jod

b oy 1) FW G ) Y sasdt JS JasTy Dalaal)

o9 b amlgs ¥ e G k) oda ) S5

- - Vx#3-Yk=1 o 1 5-6 JU
Example 5-6: Solve vx+3- JYx =1

Vx+3=vx +1 grige

V=1 o  x+3=x+2/x+1 &AL

Vi+3-4J1 21,2-1=1 [l

Qlagd ot e dugiond! A Alal) Cleglaie o
Systems of Equations Involving Quadratics

Graphical Solution dulud! Jelxd!

5,bladl y, x o & y, X o optean  padaland L) Lo Y1 J gl

Gl pges M ablizs 3 13 cpdslaadd b} proe ) ablis i)
s Y Saledt 0

Algebraic Solution dyyexd! Jelad!

damy § Us\me g has Wstaa [ 17

P | PN [ SV WYPSN | RN ERL P W R T I PN TR PR

+y'=25 (2)  x+y=7 (1) : deshdl > 1 5-7 Je
Example 5-7: Solve the system  ()x+y=7 ) x*+y*=125
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4 (T-x2=25 o Juamly (2) 205 . y=T-x dmiy $ (1) Jou
OS5 Lodis . x=3,4 5 (x-3)x-4)=0 i x2-7x+12=0 i

y=T7-x=303S3x=40sK loisgy=7-x=4 0,53 x=3
- (4,3) « B 4) o WY el OeST Sd

ax’ + bx’ = ¢ : JS&IL OWatas [ ]
3x2+2y*=14 (2) 2x2-y'=7 (1) ! doghzall J> : 5-8 JUa
Example 5-9: Solve the system (1) 2x>+y?=7  (2) 3x* + 2y’ = 14

anad (2) I mexrly 2 3 (1) ol y Bl
7x% =28 , x=%2 _,I x2=4
Jodo dngy ¥V L y=21 o Joamed (1) b x=2 5f x=2 a0 OF
2D 2D (2,1 (21)
.ax2+bxy+cy2=d:‘_}§_ﬂ\.30b:bw[.’,-]
doghiall > 1 5-9 Jlhe
(1) C+xy=6 (2) X%+ 5xy —4y* =10

Example 5-9: Solve the system
M) xX>+xy=6 @) x>+ 5xy—-4y*=10

(1) sl o pudolaadl WSy ol asdl it 1 1 Al alf
Ja.-:lc,lpl,aus(z),s
x-5xy+6y°=0, (x-2y)(x-3y)=0, x=2y sl x=3y

cy=%1 oy =1 e s (2) 5f (1) §x=2y OV i
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095 I x=2y=-2 0T y=-1 Legx=2y=2 0K y=1 L&
(2) s (l)u.ix=3yt.br.i'y=-1,x=—2 _9‘x=2,y=l O M

yi=t y=¢£
2’ 2
Lis
2 342
= x=3y=——
y > X=J3y 2
L
A2 342
2 2
a1 Jghodl 0
(2,1) (~2,-1); [3*5 2 } [-35 -ﬁ)
] * [ ] 2 2 2 L] 2
oedsland) VS b y=mx I 12 Al lall
(1) e
x*+mx?=6, x’= 6
1+m
(2) oo
x4+ 5mx2-4m*x2=10, x*= 10
1+5m—-4m?
SU4

6 __ 10
l1+m 1+5m-4m?

L’JLJHJ_’le:xBJy:x/ZdDJJ m=1/2,1/3 gy
. 1 43kl
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D Jadd! I 8
. Sludigatt ¢

. Al Sludtgati
L gl Sldigitt V7
. il Tt Seatuaitt &
B W T I M
. Cillaugad!
- TN (I { i i) {
Sequences wludigil! o
s el i gall Slae Yl @ e Dm0 Dy o 2lae VI Ll gre

23

. 4l gzall
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Arithmetic Sequence Awlwand! duigil| o

~daW - e aae S sldel e ddlgme oa Aated-t 301l

e e gdla o mlodi ool I b dds macres PR WS
& 22l 3l cotdl saall

A= JS oY iyl Lgme 23,7, 11, 15,19,..... IRV

50,45, 40, Lylusdl 1 gaadl 5 . Gl suadl J) 4 mecy 4 Jaaos
. 45-50=40-45=-5 ¢a 3 zzudl 3,1 045,

D ey dgluodt L1 grald Loladl oyl 5!
Cl=a+(n-Dd LY dsdl sl St usdl e

. :3.L9J|C,And_gi&_,.m:.w.ot

s=% (a+l)=%[2a+ (n—1)d]

Cidlgadt e d Jal =2 s

2 peadl G\l =d

. 3ad>dl sae =n

NP | RV [ I PR RV TRy

. a_g.k:J‘o.an:J‘git}mqu:S
ca=3 e 3,7, 11,. ... gl Lzl xel 1 6-1 Jia
cd=a+-1d=3+6-14=23 g sl udl . d=7-3=11-7=4
9 .)J.L:-x.'&adj{tw

Example 6-1: Consider the arithmetic sequence 3, 7, 11, ... wherea =3
andd=7-3=11-7=4.Thesixthtermisl=a+(n-1)d=3+(6-1)4
= 23. The sum of the first six terms is:
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s=-'2l[2a+ (n-1 )d]=-§—[2 (3)+(6-1)4]=78

s=—‘2'—(a+t)=—g—[3+23]=78

Geometric Sequence duwdigl! dudigill o

Jaars = JaWH day - Lgze sae IS slief Wigze o dwutadt 31 gl
c & mdl At ade glay col dumy Gl sdall L alde

ade foams sde JS ddin iJig 4 5, 10,20,40,80,. .. .. <A
9,-3,1,-1/3,1, . ... Lt L3 gzl 4. 2 9 pld) suddl Oy
S paadl Ll OS5

-3_1 _-u3_19 _ 1

9 -3 1 -13 3

Db Lzl U gzal) el it g far
C=a! LY Gl ol el asdi e
39451 o n S gl g gemea @

_a(r-1)_rl-a
r—1 r—1

Cdod usdl =a s
.38 el Ll =d
. 394! 3ae =n
e e sl el sl =
. .‘o‘g.bd‘yndgitw:S
9a=5 Eu=5,10,20,.... Lewtigll Llgmedl el 1 6-2 JUa
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Example 6-2: Consider the geometric sequence 5, 10, 20, ... where a=5
and

B Jol Fyezeoy o [=ar™! =5(2™) =5(2) =320 s» C,L_Jl o |
. 9 D9l
The seventh term is [ = ar™' = 5(27") = 5(2%) = 320. The sum of the first
seven term is

g=alr=1)_5(2"-1)
r—1 2-1

Al Ao gl dlaluil! o

Infinite Geometric Series
) agdy Bpmadin Ll oY (S2) Gl J| g gemal! lawy
P IL T e Lade J5T 1 & raadl

- =4
|l‘|<1 > S""'—l—r

LM s dldzadl el 1 6-3 Jlke

=635

Example 6-3: Consider the infinite geometric series

Where a=1 and 2 = -1/2, Its sum to infinity is

2Rl I egemar=o12 5 a1 s
a 1 1 2

S.--' = = = —
1-r 1-(-1/2) 372 3
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Harmonic Sequence dud8igil! duligill o
B T WP | PPV VO PPRUSPRIR KPS [P | PEYR - [ R P

O URY
11111
2'4’°6'8°10°

dola 41920 2,4,6,8,10,.. ... OY Ll gy dlgue oo

c 48 ) L gnel) e eelsdl dsd) ol D 674 Jie

Example 6-4: Compute the 15" term of the harmonic sequence.

9 e Geelsdl baus 4,7,10, ... o6 bl Loliod) i) gxed)
e gl sl aadl O WA L I=a+(m-Dd=4+(15-1)3=46

L 1/46 gn il il gzal)
Means cawgil! o

s e Olbaw @l Lede gl 21 gmad el s e 3 9us!
el

gadl 05553,5,7, 9, 11, . ... Lulsd) Ll gzadt 8 U
o 13,3 o Wl amjuc,,'\ll .5 27,3 e plead)
. 11,9,7,5

G gl S la gied) 065 2,4, 8,416, ... . demndigh il gzl S
. 8,4 vn 16,2

Labl g3 Al guadl b
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l1r111
2'3'4°5°6°

GO bl gd) llas gzedl 173 9 14,12 o gib 43! Lo gl
CUSL AL 1B 8 16, 12 oy

S U4,3/8 pu  oidlgdl Luguall oa Lo ! 6-5 JUle

Example 6-5: What is the harmonic mean between 3/8 and 1/4?

92 114,873y olusdl Lo gall
1(& 1) 35
2\3 4, 24
JU . AEB s 060 B s A e sl u gl Of e

2
L 24135 on 1/4,3/8 oy b} g} Lo grad) 04

Mathematical Induction (ol i z il o

Principle of Mathematical Induction w2l J zGi&uY Sdel®

i i) . epmenal) D gadl Sae Wi Je o geatdl Jamy OB i
pleadl Jous 9o o 3 JSU ) LSy o gaaidl ol
b Lol L gall Sl el e Sl ade 34 ) Dl ST
oo O O] @ Bl Bl Ly )b plaseaaly - g Uazad 0 055
i 3Y (U el Gy b pldseral (Say . s Ll

. G gl dovmeall lae Y IS U

Principle of Mathematical Induction bl zUE susld
;.L_;J_(Jc_.aupf._c _‘)i \:-u:-.wu_yg:diu—(w Cﬂip(")ag
Do gl Il gdser 13} n
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. G P(1) (1)

O9Ss Pk + 1) ey 1igh n=k die e P(K) O WU (2)

@btz EEe¥ aldddul OLSY!
Proof by Mathematical Induction
OLsghs Slgd ol I bl plaseealy 056 ol 4 ks oLy
. bt g
e 0L ol Lo il &) OF ladl) iy geidly e} (1)
. n=2 gl n=1 559 N A gad) doezenall slae Y o A=l
Jf dieas Ca i o n=k Ls O eslall ol G,k i ot (2)

. h=k+1

OpWH o1 4kl OF J) o Ll SlSasd oighasdl VS plas] 3 2men
5292 6ol 5l o 1 ST doemall Lo gl Slae Y1 ST s
C S9N ksl e pmmaall Crgall 3all

i gadt Sle Y ST St o M z b el 6-6 JUia
. N doeseall

Example 6-6: Prove by mathematical induction that, for all positive integers n.

142+3+.. +n=£(n—+1—)

L0V n=1 s mees gl D S Y 8 phsdd
_10+1)
2

1

U_‘! (k+1) c&:ur..: n=k ks Uj-‘l-‘-” WLJ"J‘" . MU‘ iijb&r.”
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AT

(k+1)(k+2)
2

k(k+1)

14243+ +k+(k+1)= +(k+1)=

. no,n‘)l.x_. (k+1) ;21905 Joo n(n+1)/2 dad 29

Lo oo & Lidl i n=k e Guses Oplil! OIS 13) B D
ML;WQ‘,_{:An=1.L_mC_3MQJJLﬂ|O_§J3n=k+I
die Lo 03Sid 0 = 2 dis s 6y WU L n=141=2
Lo gall slae Y JS0 Gumws Ol 0585 . 10Smg n=2+1=3
N R PSP |

www.ibtesama.com
Ao lLuiv VI alzo S.Liio
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D Jadll 148 o8

. dusala | Jadl Susld
. Juabuid! v
. Gudigit ¢
. Gt e O
L oad! S13 Ayl o
. Wasud! SYLE>Y V)
L WSl SNV
. e O YL @
 duda il Y LY V)
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ol dadl SAslE o
Fundamental Counting Principle

sl aey ddluseadt (5, LI of M dday Al s g e loi ug.oi 154
Lilisead) G e n a5 T e s bl oSal Gl odn a-y
. dibzseadt GBI e men sdmy Jg e ppanadl slol S

ik g) e 5 5 Liblows dihiy) pomd o 3 Blin OIS 15] Ditad
c b 305215 ddy reazedl VS el Sad Biese

=0 X, dday a, ANPRCNAL o0 X, 34w a AN uS.o\ 5] L:y;.p_g
0SBkl e x dday a s 1519 Skl e X, dda 53 1ol EPAY
A | I SRR G W PP PLTY BEK WP IR 2 P |
ilS 13) gy 5 9 Lamd 15 5 &l 3 Jory ey 1 7-1 Jihe
oIl Olen e a9l Oollaty anads b po U9 el b
cJe ) Lk g OF Sy 31 diluseadt

Example 7-1: A man has 3 jackets, 10 shirts, and 5 pairs of slacks. If an
outfit consists of a jacket, a shirt, and a pair of slacks, how many different
outfits can the man make?

X, ®X,®Xx,=3e10015=150 az.»
Permutations Juoludi o
e 4k e LW e Slae Y Lam ol SO s e ool

abc , ySJoJSﬁJKCﬁ,S_,&L c,b,a s> &I Joly Dued
Sy | Sja‘-i_o c,b,a g >l i Jols . ach, bea, bac, cba, cab

. ¢cb,ca,bc,ba,ac,ab j’hBJ"’Js
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o0 Jal Jeol s nt & 5apsn g pae 05K 0 andadl 050
. n'=ne(n- 1)! \..,.a.,b n'=ne(n-1)}n-2)eee2 el L;i . dagall r\.’éj‘ﬂ\

L0l=1 511 048 Laall g eae O a

Gapan JS dad dxrsl 1 72 JUe

Example 7-2: Evaluate each factorial.

7! ®S5!' 1! 2! (e)4!

(a)7!=7+605s4+3e20¢1=5040
(b)S!'= Sede3e2+1=120
©1!'=1

(d)21=2e1=2
(€)4!=4e3021=24

s LY o n sl (Wl of GBI Joladl sae Jras P 5ot
3 pde-le elal 8 Lol sue gPy Joay I L 5,0 JS ridesle
coe JS 5 opderle sLal 5 ol sus sPs Jrans i, JS

. oy JS T Bagrle dAlDAL LW Ge N (LalS
Permutations of n Different Things Taken r at a Time

P=n(n-1)(n-2)-(n-r+1)=
(n—r)!

Pe=aPan=n(n-1)(n-2)eee i =n! ¢« r=n s
DI Jaald) e JS ded a1 7-3 Y

Example 7-3: Evaluate the following permutations:
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(@,pP, )P, )Py (d) P, (e) P

(a) P, =5

(b) P,=54=20

(€) Py= 5+4+3=60
(d)P,=524+32=120
(€) Ps= 5°4¢302+1=120

S Ll 5 jelssl 4 L posn ) Gk sae sl 1 74 e
S 6 Ly iS e a1

Example 7-4: Determine the number of ways in which 4 persons can take
their places in a cab having 6 seats. |

P, =65¢443=360

. Gl gudd B LS Bigrle AEUISL SLEY ey Juslus
Permutations with Some Things Alike, Taken All at a Time

(503 GICP] g r..@JS Q.,.SJ;’-L ¢ LY oo n ol Pobosbadl sue
9 eee eeline G T oy g epline Ty g (pelina
_ n!
" nlnyn,t

. D +n,+n, +ese=n Coo

2
oAby, 7 9 oV, Olail 3 Ly gy I G,k aae 1 7-5 JLe
L Bdoly dlos daad Jib JS ) ey oo JUibi 10 e

Example 7-5: The number of ways 3 dimes and 7 quarters can be
distributed among 10 boys, each to receive one coin, is

10! _10-9-8
37" 1-2-3

=120

- 124 -



Circular Permutations i il Juabudd!

b (n-1)! 98 5,505 Jg Liksead) £ LW o n i Gk dus
rl.l.:-:.__...\.- & 5 saae J g r.g..a‘,l:— o ua\.w..ii 6,k 1 T7-6 Jﬁ'ﬁ
. i b (10-1)!=9!

Example 7-6: Ten persons may be seated at a round table in (10 - 1}! = 9!
ways.

Combinations @u8igili o
ol + Lz o0 due 4 5o JT J5 o sl of foad 9o 3 o)
RETICENTIP U TR S Y I P10
ac, gadp |5 -l 3e--loc,b,a Uiy, G g8lg 09 U
cba pd el bas 2 g d>lg 595 9n ba,ab Of =Y . bc,ab
o n (e samadl ol WL Y1) G dlg s ey oG 0]
il g rasgsle s La Yl
5l B asdele Ll 9 sty e e Juy oC SUS

. Op0 JS T Bagle QAL 4LlN e M SudigD
Combinations of n Different Things Taken r at a Time

C_nPr_ n' _n(n-1)(n-2)-(n-r+1)
" fn-r)t r!

s gazs e L Iols oSay ) WJL Oldlaadl sus 1 7-7 St
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ity e T LI S il I S O 3 WU 12
Example 7-7: The number of handshakes that may be exchanged among a
party of 12 students if each student shakes hands once with each other
student is.

Co_ 120 _ 12t 12°11
272 91(12=-2)r 210! 1-2

coblodl by Le d> e JUWH O 4ild)

=66

ncf=ncn‘l'

i ga ez oo n o r olhlasl oue of uJ.r- Ja O\l taa
AR oo 0o (n-1) Olylast sue
IS Gl dad am ol 1 7-8 Jle

Example 7-8: Evaluate the following combination:

(@,C, ®,C, ©,C @,C, (),C

5 5-4 5-4-3
(a) 5C1=T=5; (b) 5C2=ﬁ= 10; (C)5C3= 1_2'3=10;
5-4-3-2 5-4-3-2-1
C. = =35; C=r——_" =1
@ =T34 OS50

c Jolgad e i plaadly Ll e IS OIS Bl IS 5 &f L
. A JS (oD Addyle U B3gSle dalidee sLi Gubled

Combinations of Different Things, Taken Any Number at a Time
e 2 ¢ 13l didluseadt 2 LAY o n 2uad C Gdlgd) sus Jlex

JABJ.AJSU.én‘....¢3
C=2"-1
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coAae Jb chaaig Jbys ade ay) das L (54w 179 JUie
. 24-1=153.b LG""’Q‘ .)}d...”g:..:-uu Wudj\ A.J\.Aa-y‘ QJL” dis

Example 7-9: A woman has in her pocket a quarter, a dime, a nickel, and
a penny, The total number of ways she can draw a sum of money from her
pocket is 2*- 1 = 15.

Combinatorial Notation gigill jueyd ©
. dhally anlsS Sy 1Crye JS o)l bt n Gdly sae

[r] il ed) a5 Lgie Jlis

C= n! _(n
 (-pir! [r ]

.rSn_gW;‘J&‘rcn&ﬂ.’-

. sldde JS desd da ol 1 7-10 JU

Example 7-10: Evaluate each expression:

(a) (;] (b) (j] () [g) (@) (g]

(a) 7 7T 76541 o o .
3] (7-3)13t 413! 413-2-1
1 | e |
(b) 8 8 _ 8 _87 ¢
7/ (8- 1171 1-7
| !
(c)9 9 __ 9 _1_1_,
9/ (9-9)m9! 019! 0! 1
5 5! 5t 1 1
(d) = me—me—=
o/ (5-0)10t 50! 0O 1
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The Binomial Theorem jodadi O3 4yl o
iz 3n S @ b Saadl b Ur go bnsomas I3de m OIS 3]

n(n 1) a2 n(n—l)(n 2) n-3,3
21 3!

n(n—l )(n—z) C (n_r+2) n-r+l,r=1
=N an Il

ool 93 Ol ol uddt O3 s Dslaedt oda e ik
Gl pasi sy Lean ool I3 &k S e g
i g0 i g3ty O Velasdl g LN L O Vlaedl e peasld

ok L

5-4=5-4(3-2-1)=5-4-3-2-1_5!_ 5! 5
2! 2t \3:2-] 3-2-1-20 312t (5-2)2 |2

n(n-1)(n-2) n{n-1){n=2)---2-1_ n! =(n]

(a+x =a"+na" 'x+——=

4+t et X"

3! B (n—3)3! " (n-3)3! |3
SO
n n! n—-1 n! n-2,2
at+xf=a"+—— —
(a+xf=a =)t - T a2 )
n! n—r+lr—1 n
+ - I

(n=[r=1}){r=1)!

(a+x['=a"+ (n) a“"x+(“) a"
1 2

+( n ]an-l‘+1xl—1+...+xn
-1
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(@+x)" J%is 3 i Ly
. (nyJ.s-JSZg-_,)Lgi)n = "u“i + au.ai(l)
P gt esees 348 N Co- Dt ] dadad! sde (2)
L 3 e oo guzno 328 1 055 Ladie aangio B i lia (3)
) 9 e 38 1 00 Lais Laugie drly o Slia (4)
095 Gy glune lilay DL o dad ) S gasd) O Males (5)
i 5 Seay, @ Melaadt odin OF dlas Do puadl pay . dlilaze
T WS
(@ +x)° 1
(a+ x)! 1 1
(a+x)? 1 2 1
(a + x)? 1 3 3 1
(a+x)* 1 4 6 4 1
(a + x)’ 1 5 10 10 5 1
Yy Ja Y suadt L Sl das slue Y o0 4 gimanll odn O a5

OSay Bshaacl b 5T o S OF o (1 050 oo JS
. dau‘uqa”vée)bn,wuabw‘caauwd’gﬂ‘

@+ x)’ o 7-11 Sl
Example 7-11: Expand (a + x)°.

(a+x P=a’+ 3aﬁ+%ax’+%x’=a’+ Ja’x+3ax+x}
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g AV e ) Sy @+ %) Hladed) S asdl dae

, _n—(n—l)(n—2)'--(n—r+2) n—r+lyr-1
S dedl= 1) a" " x
_ n{n~-1)(n-2)- (n~r+2){n-r+1)---2-1 -t el

(n~r+1 )(n-—r)-'-Z'l(r:-l )!

S (n—[r—l].)!(r—l )1 e

S el = (.“ ) a" "y
1

r

. O glal r‘..\.:.-.'i...al.g x+y)" G el asdl el 1 7-12 JGe

@ SN amdt = (a+x)= "(“‘1)("(:fl)')'!'(ﬂ-HZ)a.,-mx,-l

Example 7-12: Compute the sixth term of (x + y)'° using the formula

n(n—1)(n-2)-(n-r+2) o 0 e
(r—1)t

rth term of {a+x J'=

n-r+1=10,r-1=5 ¢ n-r+2=11 ¢ =6 ¢« n=15 d\,k’é

15-14-13-12-11

xl() 5=3003x10 5
12345 7 Y

uaJL..J\ Joudl =

Simple Probability dasusd! C¥ledi>¥| o

PRERUNEPCE PRCJIATINUY WV X PP RCRIEK SWP] ey i
. v..JJ..L:J\JLA.b—‘usQJL.u.a h+fL§JE.“o.:LA JS_Q d‘,h“u,o f oue
9n (C\au ade Gllay) Doladl Ggda Jlaaat 045 U A

' h h



A (J..J e d.u:.-) S\l ods Ligdo pie Jlaz1g
f f

Q=T =

h+f n
g.‘aU.)u-L.B n=h+f¢.._1.'>-
q=1-p s« p=1-q«p+q=1
il B el WE o hif ga Dol Ggas il i o4l
Sigd > Jlas>-l g8 p cilS B h of f:h o Gl Ligd P

u2As p/1-p Jip:q=p:(1-p)_,.a Lq..‘_g.b-u.sup_,a”u‘,i.s Gl
. (1-pMp _gi q:p=(1-p):p o &dladl Lrod> pis

Compound Probability 48l QN> o

c 6 ol oy SF gl Jla! S S (0 B9
Sz 5,0 IS 5500 @by 0 ayl llos dalab ey 15) GBI

il ole b sl Y il La 5 HUS sl 590 eebs
ol (gl dinedl Ualod! oo ST o1 i) gt ¥ laz

Lo g dwnlsdl i ) = B2 u.l.ﬁ Jgmamdt Jlazt OS5 S
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Example 7-13: If a dice is thrown, what is the probability of getting a 5 or
a6?
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Example 7-14: If a dice is thrown, what is the probability of getting number
less than 4 or an even number?
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Binomial Probability jJdad! Qi3 Sl e
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Example 7-15: A box contains black chips and red chips. A person draws
two chips without replacement. If the probability of selecting a black chip
and a red chip is 15/56 and the probability of drawing a black chip on the

first draw is 3/4, what is the probability of drawing a red chip on the second
draw, if you know the first chip drawn was black?
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When you don’t have the time ...
but you still need the grade!

If your life is too busy to spend hours ploughing through weighty textbooks, and
you need every study minute to count, this Schaum’s Easy Outline is perfect for
you! This super-condensed, high-torque study guide gives you what you need to
know in a fraction of the time.

SUPER-IMPACT

Built for quick, effective study, this Easy Outline packs exciting new learning tools
that make mastering college algebra fast, fun- and almost automatic.

SPEEDEE

Quick-study experts slashed the time you need to spend with your books by
reducing college algebra to the essentials the professor expects you to know.This
Easy Outline is perfect for test preparation, pre-exam review, and handling those
last-minute cram situations.

HI-QUALITY

Easy Outlines give you 100% of the authority of Schaum’s full-sized guides, known
around the world for the highest academic standards.

BACKPACK-ABLE STUDY POWER
Compact and portable, this Easy Outline lets you study algebra anywhere.

SCHAUM’S GETSTHE GRADE!

Let’s talk bottom line. Schaum’s Easy Outlines give you what you want— better
grades, with less work, and more free time!

Get the essence of algebra the easy way. Schaum’s Easy Outline of college algebra
helps you master algebra with plenty of illustrations, memory joggers, and the
newest, rapid-absorption teaching techniques. Backed by Schaum’s reputation for
academic authority, this is the study guide students turn to and trust. Students
know that Schaum’s is going to be there for them when they need it!

* Quick study tips * Student-friendly style
* At-a-glance tables ¢ Perfect for test prep

Arabic version by:

fee McGraw-Hill

International House for Cultural Investments sAk. A Division of The McGraw-Hill Companies
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